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Question Number : 1 Question Id : 7532293441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a village 30% of the adults are illiterate and 90% of the children are literate. If the ratio of number of adults to number of children is 1: 3, then
what percentage of the total population is literate in the village?

Options :
1. % 75
2.9 85
3. % 90
4. % 100

Question Number : 1 Question Id : 7532293441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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fepaT wifererer fRiféra g2

Options :

1. # 75

2.¥ 85

3. % 90

4. % 100

Question Number : 2 Question Id : 7532293442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anas is 65 m South-West of Anil and Jyoti is 63 m North of Anas. If Jyoti is 16 m away from Anil, then in which direction is Anil with respect to
Jyoti?

Options :

1. ¥ East

2. % North-West

3. #* South-East

4. % West

Question Number : 2 Question Id : 7532293442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ggmﬁggés Hiex gféorufm o § 3R A, 3 & 63 Hiex W A g1 afe A, e ¥ 16 Hiex gR 8, ) sifa & wmder st
?

Options :
.Y 7qd

2. % IR - Uiy
3. % gfgor-gd
4. % gigw

Question Number : 3 Question Id : 7532293443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Uttar Pradesh : Lucknow :: Tamil Nadu : ?
Options :

1. # Bengaluru

2. % Mumbai

3. % Chennai

4. ¥ Gandhi Nagar

Question Number : 3 Question Id : 7532293443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAhed BT 99 B, 7 i Weg U YT THR Y& fd 7, Fo TR gERT Teg Ugd Ueg § A&fId B
JR UG : RIS, :: AT : 2

Options :

1. % dTqE

2. % Hag

3. ¢ 9%

4. % Tt TR

Question Number : 4 Question Id : 7532293444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:
Few monkeys are bananas

All bananas are grapes

Conclusions:



I. Few grapes are monkeys
II. All grapes are monkeys

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusions I and II follow

4. % Neither conclusion I nor II follows

Question Number : 4 Question Id : 7532293444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ $Had [T5HY [ 3IERU Hal §

2. % Had fHY 11 ST HdT &

3. % fIepe 1 QT 11 QT SR R §
4. % A By 1 iR T 8 Fmd 11 SERU HRaAT B

Question Number : 5 Question Id : 7532293445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options will replace the question mark (?) in the following letter series?

D,F,J,L,P?



Options :
1.* T
2. ¥R
3.% S
4. % Q

Question Number : 5 Question Id : 7532293445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad o @ &9 91 fadweu &Y 18 31eR §@d H U=-drE® g (2) & R WR ST

D,FJ,L,P?
Options :
1. T

2. ¥R

3.% S

4. % Q

Question Number : 6 Question Id : 7532293446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IF # means -, $ means +, & means x and @ means +, So what is the value of 75# 64 $ 8 & 3 @ 12 ="
Options :

1. % 95

2. % 47

3. % 34

4. ¥ 63

Question Number : 6 Question Id : 7532293446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g apTd s HT S+ g BT I x M@ BTHT+3, W 75464 $8 & 3 @12 HTHA I B



Options :
1. * 95
2. % 47
3. % 34
4. ¥ 63

Question Number : 7 Question Id : 7532293447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One day in the morning after sunrise, Shankar and Shiv were sitting on a rooftop with their backs towards each other. Shankar’s shadow fell
exactly towards his left-hand side. Which direction was Shiv facing?

Options :
1. ¥ South
2. #* North
3. % East
4. % West

Question Number : 7 Question Id : 7532293447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ cfgor

2. % 3

3. % Ud

4. % i3y

Question Number : 8 Question Id : 7532293448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are fifteen members in a friend circle. On the occasion of New Year, they send three chocolates to each other. How many chocolates will



be used by the group for this purpose?
Options :

1. % 42

2. % 45

3. % 210

4. % 630

Question Number : 8 Question Id : 7532293448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 42

2. % 45

3. %210

4.9 630

Question Number : 9 Question Id : 7532293449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Put the words given below in a meaningful sequence.

1) Asia 2) Europe 3) Australia 4) Antarctica 5) Africa
Options :

1. # 43251

2. % 32451

3. % 25341

4. % 21354

Question Number : 9 Question Id : 7532293449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e fou Wl &1 T 31U 3 H T AafRid B |
1) TR 2) TRIY 3) AT 4) 3feThieHT 5) Wb

Options :

1. % 43251
2.9 32451
3. % 2534,1
4. % 21,3,54

Question Number : 10 Question Id : 7532293450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

Brazil : South America :: Italy : ?
Options :

1. % Asia

2. ¥ Europe

3. # Africa

4. % Antarctica

Question Number : 10 Question Id : 7532293450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdhed BT 99 B 1 A eg U T THR Y fd g foT TR GERT Teg Ugd eg § &I 7
SToTd : GleruT AT = 3???[ 7

Options :

1. * TR

2. ¥ ]U

3. ® 3{TbIcpT

4. % 3feThicadHT




Question Number : 11 Question Id : 7532293451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in a certain coding language 'COMPUTER' is coded as '222', then how will 'DEVICE' be coded using the same coding language?
Options :

1. % 48

2.9 96

3. % 144

4. % 192

Question Number : 11 Question Id : 7532293451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T TS SIFET U9 § 'COMPUTER' &1 222' & U H SIfSd a1 STl &, Al ST DITST U BT ITANT $HRabs 'DEVICE' Bl Hdl
Pifed far swm?

Options :

1. % 48

2.¥ 96

3. % 144

4.% 192

Question Number : 12 Question Id : 7532293452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the words share the same relationship as that shared by the given pair of words.

Deer : Doe

Options :

1. # Panda : Boar
2. % Zebra : Stallion
3. % Rabbit : Buck



4. ¥ Swan : Pen

Question Number : 12 Question Id : 7532293452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faeed o1 997 X e AT U 2reg 1 AU 10 Tea-gm & FHH HaiY 1 I1eh = g |
fgor - =it

Options :

1. ® OISl : STeil 3R

2. % 91T 9IS

3. % WM : G

4. ¢ g9 g

Question Number : 13 Question Id : 7532293453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Ornithology : Study of Birds :: Entomology : ?
Options :

1. % Study of Acids

2. # Study of Leaf Patterns

3. # Study of Antenna Signals

4. ¥ Study of Insects

Question Number : 13 Question Id : 7532293453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAdHed BT 997 B, 1 i Teg U YT THR Y& fd 7, Fo TR gERT Teg Ugd Ueg 4 A&fId B
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Options :




1. % 3l T 3eqTd

2. % Rl &t YT BT 31T
3. % WA Rrd &1 sieggq

4. ¥ BIc| DI AT

Question Number : 14 Question Id : 7532293454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter-pair which is different from the rest.

AN, BN, EN, UN
Options :

1. % AN

2. ¥ BN

3. % EN

4, % IN

Question Number : 14 Question Id : 7532293454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRed o 9 fauH S1&R-gm &1 g+ Bl |

AN, BN, EN, UN
Options :

1. % AN

2. % BN

3. % EN

4. % IN

Question Number : 15 Question Id : 7532293455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Given interchanges of the signs + and —, the numbers 4 and 8, which equation would hold true?
Options :

. % 4+8-12=12

2.9 4-8+12=0

3.%¥8+4-12=24

4, ¥ 8-4+12=8

Question Number : 15 Question Id : 7532293455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl + 3R — 1 U1 FBATSHT 4 3R 8 DI IRER Feer W Y H J IH-1 FHi 01 gt grme
Options :

l1.% 4+8-12=12

2.9 4-8+12=0

3.%8+4-12=24

4. % 8-4+12=8

Question Number : 16 Question Id : 7532293456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four number-pairs have been given, out of which three are alike in some manner and one is different. Select the number-pair that is different
from the rest.

Options :

1. % 17-23
2. % 167 - 131
3. % 101 -6l
4. 103 -169

Question Number : 16 Question Id : 7532293456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 17-23
2. % 167 -131
3. % 101 - 61
4. 103 - 169

Question Number : 17 Question Id : 7532293457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option represents the correct order of the given words as they would appear in English dictionary?

. sentence
. sensitive
. sentiment
. sensible

. sentirse

DR W N =

Options :

1. % 1,2,3,4,5
2.%3,1,4,2,5
3.9°4,2,1,3,5
4. % 2.41,3,5

Question Number : 17 Question Id : 7532293457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 Wrec] B ST U1 & IR et oA | fhy faswey H afyd faran mar g2

1. sentence
2. sensitive
3. sentiment
4. sensible
5. sentinel

Options :
1. % 1,2,3,4,5



2.%3,1,4,2,5
3.4,2,1,3,5
4. % 2,4,1,3,5

Question Number : 18 Question Id : 7532293458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select a suitable figure from the four alternatives that will replace the question mark in the figure matrix

:
1. =
%1/
2. % l}
%
3.¢



Question Number : 18 Question Id : 7532293458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRI [ded THiaal # 9 39 Iugad i B 98- B S (9 bl 21 H Uy-fag & I W 1w

Options :

Question Number : 19 Question Id : 7532293459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The three problem figures have certain common features. Select a figure from amongst the given options which
possesses the same features.

Problem Figures

A & F
V ¢ E

Options :

2. ¢

3. ®




@
®©

4. %

Question Number : 19 Question Id : 7532293459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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o A
A & | F
V| ¢|E

Options :




Z
2.¢ S
S
.S
@
4. % @

Question Number : 20 Question Id : 7532293460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the figure from the alternatives which is hidden in the given figure: (rotation is allowed)

X
'\. LY ri Z1
S~ A\ Fi e
/ \ S 7
—_—
A B c D

Options :
1.+ D
) ® A
3 % B
4. % C

Question Number : 20 Question Id : 7532293460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A
Options :
1.¢v D
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Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 753229186
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229223
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532293461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first ever national emergency was declared during the Sino-Indian war on October 26, 1962 which lasted till January 10,
Options :

1. % 1964

2. % 1966

3. ¥ 1968

4. % 1970

Question Number : 21 Question Id : 7532293461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
26 AR, 1962 DI FH-HRA Y& & GRM Ugall §R AP STUTTehTel Tifdd fobam T o1, S 10 e, DI T 3T T

Options :




1. * 1964
2. #® 1966
3. ¥ 1968
4. % 1970

Question Number : 22 Question Id : 7532293462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which budget was the vehicle scrappage policy where age of the vehicles will be 15 years in case of commercial vehicles and 20 years in case
of personal vehicles launched?

Options :

1. # Budget for FY 2015-16
2. # Budget for FY 2017-18
3. % Budget for FY 2019-20
4. ¥ Budget for FY 2021-22

Question Number : 22 Question Id : 7532293462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg aote H sl ThUel Uiferdt (@rg- Fars Hifd) &1 YFaTd Bt T foraw It arg=l & fore arg=t &t 3y 15 a9 3R st arg=i &
for areit 1 3mg 20 T gl

Options :

1. % fa<fg av 2015-16 HT Fole
2. % faig ay 2017-18 o1 ol
3. % fo=ig 99 2019-20 1 ol
4. ¢ fa<fg a¥ 2021-22 FHT I

Question Number : 23 Question Id : 7532293463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which country among the following has proclaimed May 26 as Science Day out of appreciation for President, Late Dr. A P J Abdul Kalam?
Options :



1. # France

2. # Germany
3. ¥ Switzerland
4. % Poland

Question Number : 23 Question Id : 7532293463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed o 9 for gz = pufa, Wffa STTh 3. siega Ham & Ufd SR Tdhe = & o 26 12 &1 a5 faaw & wu & 9y fosam
Options :

1. % iy

2. % S

3. ¢ RacoRds

4. % Uids

Question Number : 24 Question Id : 7532293464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prime Minister’s Research Fellows (PMRF) Scheme launched with an outlay of 1650 crore incentivizes the most meritorious students to pursue
research in the frontier areas of science & technology by offering attractive rates of fellowship from per month in addition to research
grant of 32.00 lakh per year for five years.

Options :

1. % %20,000/- to ¥30,000/-
2. % %40,000/- to ¥50,000/-
3. ¥ %70,000/- to *80,000/-
4. % %90,000/- to 2100,000/-

Question Number : 24 Question Id : 7532293464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

21650 BRIS P URTY & T1Y Y& B! 715 YYTHA REdd BlfRig (PMRF) TIoHT Fad AYTd SH-BEAIST B! fa7 SR Urenfies! & sryrft
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ARG Ul 9 & STHUT SI&T Bt URIDH Y B ol a1 3|
Options :

1. % 220,000/- ¥ 230,000/-

2. % 240,000/~ ¥ 250,000/-

3. ¢ 270,000/~ ¥ 280,000/-

4. % 290,000/~ T 2100,000/-

Question Number : 25 Question Id : 7532293465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was India’s first National Education Policy after independence formulated?
Options :

1. % 1950

2. % 1952

3. % 1959

4. ¥ 1968

Question Number : 25 Question Id : 7532293465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT P S1G HRA B! Ugel! P e Af forg o cqar &1 1% o
Options :

1. # 1950

2. % 1952

3. % 1959

4.9 1968

Question Number : 26 Question Id : 7532293466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following is the author of the book ‘Every Child Matters’?
Options :



1. ¥ Rajendra Singh

2. % Kailash Satyarthi

3. #¥ Satyabhama Das Biju
4. % Jadav Payeng

Question Number : 26 Question Id : 7532293466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X Ta] A15c8 Hed' & ad MEiRad & 3 ®I 82
Options :

1. % o g

2. ¢ BT et

3. % IUHI T §ig]

4. % SI1Gd URHAT

Question Number : 27 Question Id : 7532293467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the female labour participation rate in India during the July-September 2020 as per data from the Centre for Monitoring Indian
Economy (CMIE)?

Options :

1. % 14.3%
2. % 15.4%
3.9 16.1%
4. % 17.5%

Question Number : 27 Question Id : 7532293467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR B AT ST HFMT (CMIE) & el & TR JaTs-RIdaR 2020 & SR HRA & AT 91 HFfeR) & faramt 2t

Options :




1. *® 14.3%
2. % 15.4%
3.9 16.1%
4. % 17.5%

Question Number : 28 Question Id : 7532293468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shaheen Mistri is credited with founding the in 2008.
Options :

1. ¥ Teach for India

2. % The Art of Living

3. % Ashoka Young Changemakers

4. # Goonj

Question Number : 28 Question Id : 7532293468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2008 | & RITYAT DT 94 Te 1 (el B e S 31
Options :

1. ¢ A R gfga

2. % G 3C it ferfdm

3. % 3N AT dAHDBY

4. % IS

Question Number : 29 Question Id : 7532293469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following nations apart from India USA and Japan participated in the cooperative maritime exercise MALABAR -2020?
Options :

1. # Brazil



2. % Australia
3. * France

4. # Germany

Question Number : 29 Question Id : 7532293469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR, USA 3R ST & 3farar fgfeiad # ¥ fow <3 3 wgantt 9g6l onam AraeR-2020 F 4FT foram
Options :

1. % goite

2. ¢ 3fifer

3. % Y

4. % Sl

Question Number : 30 Question Id : 7532293470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was appointed the Director General of Defence Intelligence Agency in 20207
Options :

1. ¥ Lt Gen KJS Dhillon

2. % Lt Gen Manjinder Singh

3. # Lt Gen S Harimohan Iyer

4. % Lt Gen KK Repswal

Question Number : 30 Question Id : 7532293470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad 4 9 fed 2020 & & Githar Toiddt &1 AeTe I Fged fovar mam

Options :
1. ¢ Qiftie-c 9Rd ool 0. feeal

2. % Aftede S Ra AAfoieR Rig




3. % dfGede oW Rd U, gRAGT 3R
4. % Qftee S RA &b, YoaTd

Question Number : 31 Question Id : 7532293471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the son of Chandragupta Maurya?
Options :

1. ¥ Bindusara

2. % Ashoka

3. % Brihadratha

4. ¥ Pushyamitra

Question Number : 31 Question Id : 7532293471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofafed & & oF deia 21 &1 g A
Options :

1. v fagar

2. % 3D

3. % dexd¥

4. % qoiHA

Question Number : 32 Question Id : 7532293472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dynasties did Razia Sultana belong to?
Options :

1. # Khilji Dynasty

2. % Mamluk Dynasty

3. # Sayyid Dynasty



4. # Tughlaq Dynasty

Question Number : 32 Question Id : 7532293472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forn e Fafefad & @ fra Isa ot o
Options :

1. # et IR

2. ¢ HIHJS Jola

3. % WG WG

4. % AP oA

Question Number : 33 Question Id : 7532293473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which congress session did its first British President George Yule preside over?
Options :

1. # Lucknow

2. % Lahore

3. % Allahabad

4. % Bombay

Question Number : 33 Question Id : 7532293473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o S SITYARM & SHd T fofe=r sreqef Sifel g = Seaerdl &1 &t
Options :

1. % 913

2. % TR

3. ¢ 3ddlgldlq

4. % §q3



Question Number : 34 Question Id : 7532293474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which Indian state will you find the Arambol Beach?
Options :

1. # Karnataka

2. ¥ Goa

3. % Kerala

4. % Andhra Pradesh

Question Number : 34 Question Id : 7532293474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YD YR o {9 I H SREd didl firei
Options :

1. % PlcH

2. ¢ Tl

3. % Hd

4. % Y YIY

Question Number : 35 Question Id : 7532293475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which town has the oldest Oil refinery in India?
Options :

1. ¥ Digboi-Assam

2. % Mathura-Uttar Pradesh

3. ¥ Bina-Madhya Pradesh

4. # Haldia-West Bengal

Question Number : 35 Question Id : 7532293475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YR B g RAT dd Rzt frg e d /2
Options :

1. ¢ {Ses-3rRm

2. % HYRI-ITRYG

3. % SHI-AEUCH

4. % glequr-ufgy S

Question Number : 36 Question Id : 7532293476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per NSSO data from July 2017 to June 2018 which Indian state has the lowest female literacy rate?
Options :

1. ¥ Rajasthan

2. % Madhya Pradesh

3. # Jharkhand

4. % QOdisha

Question Number : 36 Question Id : 7532293476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NSSO & 32T & IR, S[ATs 2017 ¥ S 2018 I v URITT od & AT ATERT &R T HH g2
Options :

1. & TSR

2. % HH UK

3. % PRTES

4. % 3fIfSaMm

Question Number : 37 Question Id : 7532293477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

As per Census 2011 which Indian state occupied first place that attracts the migrants?
Options :

1. # Gujarat

2. % Haryana

3. % Maharashtra

4. % Punjab

Question Number : 37 Question Id : 7532293477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 B SFRTUMT & SR, YATRIAT B HTHNT B | [ HR Iod &1 Tgal R e
Options :

1. % ORI

2. % giamn

3. ¢ UERIY

4. % U9

Question Number : 38 Question Id : 7532293478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The South Asian Association for Regional Cooperation (SAARC) held its first meeting in 1985 at
Options :

1. # Delhi

2. % Dhaka

3. #® Islamabad

4. ¥ Kathmandu

Question Number : 38 Question Id : 7532293478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1985 H, Gféror TS &1 TN W6 (SAARC) = H 30t Ugelt dob TSI B



Options :

1. % faeit

2. ¥ Gl

3. % QIMHIIG
4. % PIEHIG

Question Number : 39 Question Id : 7532293479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian state has the largest floating solar power plant as on August 2021?
Options :

1. ¥ Andhra Pradesh

2. # Gujarat

3. ¥ Mabharashtra

4. % Karnataka

Question Number : 39 Question Id : 7532293479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 2021 I & FUFT &F AR, YR & [ IT0 T T §3T TAHH IR SHoll G4 (FAIfeTT HeR UTeR Wie) 82
Options :

1. ¢ 3 TS

2. % ToRId

3. % TERIY
4. % PAlcH

Question Number : 40 Question Id : 7532293480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As on December 2020 which train among the following covers the longest train route in India?
Options :



1. # Ten Jammu Express

2. # Himsagar Express

3. % Thiruvananthapuram Central Express
4. ¥ Vivek Express

Question Number : 40 Question Id : 7532293480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fERiaR 2020 7% &1 YUY & STER, Fofafed & 9 -9 30, YR § 969 dd X AN Bl HAR BT 62

Options :

1. % 1 o] URIUY
2. % fRHITR TR
3. % fOPaaqRA dod Taaud
4. ¢ fade TR

Arithmetic Ability
Group Number : 3
Group Id : 753229187
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability
Section Id : 753229187
Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229224
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532293481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the average of five smallest square natural numbers.
Options :

1. % 18

7 o 1l

Question Number : 41 Question Id : 7532293481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui ey BICT Uidhd STl & atll BT A J1d DI |
Options :

1 ® 18



Question Number : 42 Question Id : 7532293482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an office, there are 20 male and 15 female employees. The average salary of the male emplovees is 36500. If the
average salary of all the employees is 35300, then what is the average salary of female employees?

Options :
1. ® 234100

, % 33800
3w 33700

4 % %33500

Question Number : 42 Question Id : 7532293482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fpft rated o 20 TN SfR 15 AR SHAR! § | I3N HHAIRAT &1 d da- 236500 ¢ | Afe Tt S &1
3T 9 235300 8. A1 Aledl HANNG! &1 3{19d da bl g2

Options :
1 ® 34100



, % 33800
3w 33700

4 % %33500

Question Number : 43 Question Id : 7532293483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Five vears ago, the average age of a family of 4 persons was 22 years. A baby boy is a new addition to the family and
now the average age of the family is the same as what was 5 years ago. How old is the baby boy?

Options :
| % I year

) % 4Yyears

Question Number : 43 Question Id : 7532293483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 9y g, Ush URAR & 4 Ga1 B 39 31 22 8 oY | IRER ¥ U 3R &= & M 8 W 747 3/9d, 39
URAR & el B Uid o8 Ud &I 3{19d 1 & &R16R gl OIdl & | 9o &1 31 fbal 82

Options :

1. #® iEIT‘T




) ® '-16-55
v 2T
4. % 394

Question Number : 44 Question Id : 7532293484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of husband, wife and their son four years ago was 28 years and that of the husband and wife seven
years ago was 34 years. How old was the son nine vears ago?

Options :

| & l4years

Question Number : 44 Question Id : 7532293484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 94 Ud Ufd, Ul 2R 39k YA &1 19 01g 28 9y oY 3R Ird 94 Yd Ufc IUT Y&l &1 319d 21g 34 98 &4F | A1 9y
ud 3 I 1Y oo gy

Options :



| % 1499
, % 1204
v 5T
4. ® 49y

Question Number : 45 Question Id : 7532293485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Namita buys certain items and pays Z2550 to the shopkeeper. If the shopkeeper allowed 15% discount, then what is the
marked price of items bought by Namita?

Options :
1. % 32675

, % ¥2850
3 % 32925

4.« T3000

Question Number : 45 Question Id : 7532293485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T avgd WG & fod [T GHMER Bl 22550 BT YA Bl 6| AlE HIMER - 50 15% P JC 4l 6,
ol ST GRT |RICT T8, a¥g il ol Sifdhd Hed favam 82




Options :
1. % 32675

, % %2850
3 % 2925

4« 3000

Question Number : 46 Question Id : 7532293486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Sari shop owner announced 10% off season discount followed by 15% festival discount. Sunita selected a Sari which
was slightly damaged and bargained for further discount of 10%. She paid 22754 for the Sari. What was its marked
price?

Options :

| ® %4200

5 & %4000
3 % %3850

4 % F3600

Question Number : 46 Question Id : 7532293486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ISl & Udh GHMER  10% Bi HIoH Fe AR 3T 816 15% Dl BRI Be Bl G S | GATdl A T A1 ol
g a1 off YISl el g5 Al 58S [ 39 10% &I HfdRad Be fHedl | 39 91s! & 618 22754 BT YA b
qrsi &1 2fhd Hed fha-r U

Options :

| % %4200

5 & %4000
3 % %3850

4 % %3600

Question Number : 47 Question Id : 7532293487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cost of 2 trousers and 3 shirts is 2180 when 20% and 25% discounts are allowed on trousers and shirts respectively.
Cost of 2 trousers and 3 shirts is 2160 when 25% and 20% discounts are allowed on trousers and shirts respectively.
What will be the total cost of 2 trousers and 3 shirts if 25% discount is allowed on both the items?
Options :
1. % 225

5 % 32230
3 % 32150

4 22100

Question Number : 47 Question Id : 7532293487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TI3GR 3R C TR HHT: 20% AR 25% BE &1 & 916 2 TR AR 3 TC DI Hed 22180 ¢ | TS T BT HHTT: 25%
3R 200% @R &I Il 8, dl 2 TRIUR 3R 3 VIC &I He 22160 B SIIdl ¢ | AG GIH! Il UR 25% &I Fe &l S, di 2
CI3OR 3R 3 TIE &1 $dl Jod bl g2

Options :
1. ® 2250

5 ® 32230
3 % 32150

4 & 32100

Question Number : 48 Question Id : 7532293488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: . 4 :
If two numbers are in the ratio —: = | then by what percentage is the second number less than the first number?

L | b2

Options :
1.« 30%

Question Number : 48 Question Id : 7532293488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o2 Qe

Options :
1.« 30%

5 % 33%

LA | k2

& JUTd H 8, I gHL1 G ugel &A1 ¥ fod - uiiwid $H 32

Question Number : 49 Question Id : 7532293489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a library, 30% of the books are in Hindi, 30% of the remaining books are in English and 20% of the still remaining
books are in Sanskrit. The remaining 4704 books are in regional languages. What is the total number of books in the

library?
Options :

| % 11000
> % 11750
3« 12000

4 % 12500

Question Number : 49 Question Id : 7532293489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foret TRahTerd H, 300 TXIh fgal H 6. Y T&ia! H ¥ 30% 3ol H § R 39d 16 AN G| § U 20 Ipd o
T 1209 4704 TS &1 HTST3T & § | GRaeb1erd B UKIh! &1 $o G fdhan 82

Options :

Lﬁw 11000

> % 11750
3« 12000

4 % 12500

Question Number : 50 Question Id : 7532293490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nikhil bought an old car for Z125000. He spent 216500 on its maintenance and sold it with 129 profit. For how much
was the car sold by Nikhil?

Options :
1. ® 140000
> % 154800

3 % Z156500

4 & T158480

Question Number : 50 Question Id : 7532293490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fIRge A T W DR 2125000 H WGH ST THB! HFHI TR 216500 97 fhU AR I 129 AH T &4 {8471
@ = IR @I fHa =9g § san

Options :
1. ® 140000

5 % %154800
3 % 2156500

4« T158480

Question Number : 51 Question Id : 7532293491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the cost price if, by selling goods at 2414, a merchant loses 8%.
Options :

1. % ¥425

5 & 3450
3 % %460
4 % %500

Question Number : 51 Question Id : 7532293491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl U AIRI DI 2414 H G 59+ U 8% B! 81 BIdl 8, 1l 39 G D1 hd Hed J1d Do



Options :
1. % 3425

5« %450
3 % 460

4 % %500

Question Number : 52 Question Id : 7532293492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper bought two wrist watches for 7200. He sold one watch at a loss of 25% and the other at a profit of 15%.
On the whole, there was no profit, no loss. What is the difference in their cost price (in Z)?

Options :
1. % 1680

5 & 1800
3. % 2250

4 % 4500

Question Number : 52 Question Id : 7532293492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U GHIMGR A &l Halls 91sdl 27200 H WIS 3T U 98l Bl 25% BI 1 HR GEI Bl 15% AH W &7 &4
o D 39 9l Dig aH G 3R 7 81 Bl eI+ 55| 91Sdl & d Jed (2 H) H a1 3R g2

Options :




| % 1680
5 & 1800
3 % 2250

4 % 4500

Question Number : 53 Question Id : 7532293493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the number which when added to each term of the ratio 9 ; 11 makes it equal to the ratio 10 : 11.
Options :

1 ® 9

> # 10
3.¢ 11
4 % 12

Question Number : 53 Question Id : 7532293493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TAT 1A HifoTE foT U 9 : 11 P Ycids TAT H Sife-] U U8 3UTd 10 : 11 & SRIER gl Sl g |

Options :

1 ® 9

> # 10



3.¢ 11

4 % 12

Question Number : 54 Question Id : 7532293494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I_1E‘:5'1::Ei=l:1 and B : C‘=l:
23 4

thenfind A:B:C .

L | =

Options :
1. % 8:12:15

7 o 15:10:8

4 % 10:8:5

Question Number : 54 Question Id : 7532293494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G A:B=1/2:133RB:C=1/4:1/58, A A:B: C [dd & IR S

Options :
1. % 8:12:15
7 o 15:10:8



4. % 10:8:5

Question Number : 55 Question Id : 7532293495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Divide T15600 among 8 men, 11 women and 6 boys such that each woman has 2 times as much as a boy, and each man
has as much as a woman and a boy together. Find the amount that each woman receives.

Question Number : 55 Question Id : 7532293495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

215600 Bl 8 T2NI, 11 Higarail 2R 6 TSI o sid 34U ag [AHIId DX I Y Aigal & U U ASh o el
H 2 T[T Sfeleh SRR B, 3R Ucdh URY o UTY Uch Higall 3R U WS ch i ol TR o SRIeR R 81| Udb
g B U1 g1 areit M 1 Bifoy|

Options :
1. ® I575

5 % ¥585



3 600

4 ® %625

Question Number : 56 Question Id : 7532293496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B together can do a piece of work in 8 days. A alone can do this work in 12 days. In how many days can B alone
do the same work?
Options :

1%-,3 5 |

Question Number : 56 Question Id : 7532293496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B (TR {541 Bl Pl 8 fe H RIS obl § 1 A 3fchel 39 B &I 12 & & QRIHR Tl g1 B bl 341
S DI T o H 01 &R Yahal 62

Options :

133 i |

 ® 23

3.« 24



4. % 25

Question Number : 57 Question Id : 7532293497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipe A can fill an empty tank in 12 hours, whereas pipe B can fill the same tank in 18 hours. Initially pipe A was opened
and after some time pipe B was also opened and the tank got filled in 8 hours. For how much time both the pipes
together were pouring water in the tank?

Options :
1. % 5 hours

> % 5 hours 45 minutes
3 « 6 hours

4 % 6 hours 12 minutes

Question Number : 57 Question Id : 7532293497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U157 A fodf @relt ¢ &l 12 hr H W Uhdll g, Waid U5U B I ¢ Dl 18 he H HR Tobdll 8| URH H UTST A Bl
G 7T 3R S 999 916 UIg9 B &1 o Tid 681 71 3R ¢ s he T WR 7411 GH1 915Ul A U A1 fbad 99d
d® i | g SIS

Options :

1. ® Shr

o # 5hrd45 min



3. 6 hr

4 % 6hr12 min

Question Number : 58 Question Id : 7532293498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Express a speed of 30 m/s in km/h.
Options :
1 #® 105

5, & 108
3 % 110
4 % 120

Question Number : 58 Question Id : 7532293498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 m/s ! ITd &I knm/h H Had B g |

Options :
1 #® 105

5, & 108

3 % 110



4 % 120

Question Number : 59 Question Id : 7532293499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many seconds will a 250 m long train running at the speed of 45 kim/h take to pass a certain pole?
Options :
1. % 18

> # 19

3 « 20

w"‘r"‘l

Question Number : 59 Question Id : 7532293499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

45 km/h D1 ITA 9 I @I 250 m TS ST Up ST WH &I UR H H [ b &I GHY Tl

Options :
1. % 18

> # 19

3 « 20

)



Question Number : 60 Question Id : 7532293500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A man takes | h 30 minutes to swim 15 km downstream. He swims 8.4 km upstream in the same time. What is the
speed of the current (in km/h)?

Options :
|.¢ 2.2
7 % 225
3 % 2.4
4 % 2.5

Question Number : 60 Question Id : 7532293500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ATGHT YRT DT TSR H 15 ke RAH 1 U 30 e ST 990 dar g1 34 o 999 H YR 31 fTudia e # ag
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General English

Group Number : 4

Group Id : 753229188

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20
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Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229225

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532293501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

Ustad Bismillah Khan played shehnai to perfection
Options :

1. * a



2. % an
3. ¥ the
4. % No Article

Question Number : 61 Question Id : 7532293501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

Ustad Bismillah Khan played shehnai to perfection
Options :

l. % a

2. % an

3. ¥ the

4. # No Article

Question Number : 62 Question Id : 7532293502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

I went and informed police about the theft.
Options :

1. % a

2. % an

3. ¥ the

4. % No Article

Question Number : 62 Question Id : 7532293502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.



I went and informed police about the theft.
Options :

1. % a

2. % an

3. ¥ the

4. % No Article

Question Number : 63 Question Id : 7532293503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

You have to be graduate to attend this course.
Options :

1.¥ a

2. % an

3. ® the

4. * No Article

Question Number : 63 Question Id : 7532293503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank using the correct option.In case no article is needed, select option No Article.

You have to be graduate to attend this course.
Options :

1.¥a

2. % an

3. % the

4. % No Article

Question Number : 64 Question Id : 7532293504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

In spite of being rigorous trained in computer skills, he still commits silly mistakes.
Options :

1. # In spite of

2. ¥ rigorous

3. # trained

4. % still

Question Number : 64 Question Id : 7532293504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the incorrect option.

In spite of being rigorous trained in computer skills, he still commits silly mistakes.
Options :

1. # In spite of

2. ¥ rigorous

3. * trained

4. # still

Question Number : 65 Question Id : 7532293505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

To break the ice

Options :

1. ¥ To relax a tense or formal situation
2. % To end something abruptly

3. ® To cool down after an outburst

4. % To escape from a difficult situation



Question Number : 65 Question Id : 7532293505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

To break the ice

Options :

1. ¥ To relax a tense or formal situation
2. # To end something abruptly

3. % To cool down after an outburst

4. # To escape from a difficult situation

Question Number : 66 Question Id : 7532293506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

French leave

Options :

1. # Present without permission
2. # Present with permission

3. % Absent with permission

4. ¥ Absent without permission

Question Number : 66 Question Id : 7532293506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct meaning of the following idiom from the options given below:

French leave
Options :

1. % Present without permission



2. # Present with permission
3. % Absent with permission

4. ¥ Absent without permission

Question Number : 67 Question Id : 7532293507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct one word substitution of the given sentence from the options given below:

An enclosed area to hold entertainment or sports activities:
Options :

1. # Sphere

2. % territory

3. % Arena

4. % Ground

Question Number : 67 Question Id : 7532293507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct one word substitution of the given sentence from the options given below:

An enclosed area to hold entertainment or sports activities:
Options :

1. # Sphere

2. % territory

3. % Arena

4. ® Ground

Question Number : 68 Question Id : 7532293508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.



My sister scored well/ in the class test / because she did not /make much mistakes.
Options :

1. % My sister scored well

2. # in the class test

3. # because she did not

4. % make much mistakes

Question Number : 68 Question Id : 7532293508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

My sister scored well/ in the class test / because she did not /make much mistakes.
Options :

1. # My sister scored well

2. % in the class test

3. # because she did not

4. % make much mistakes

Question Number : 69 Question Id : 7532293509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

Madhu said to her friend, / “Have you been ever / to a big city/ like Mumbai?”
Options :

1. # Madhu said to his friend

2. ¥ Have you been ever

3. # to a big city

4. # like Mumbai

Question Number : 69 Question Id : 7532293509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

Madhu said to her friend, / “Have you been ever / to a big city/ like Mumbai?”
Options :

1. # Madhu said to his friend

2. % Have you been ever

3. % to a big city

4. # like Mumbai

Question Number : 70 Question Id : 7532293510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

Kerala has/ forty varieties of rice /that also people in that state/ do not know about.
Options :

1. # Kerala has

2. # forty varieties of rice

3. % that also people in that state

4. * do not know about.

Question Number : 70 Question Id : 7532293510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

Kerala has/ forty varieties of rice /that also people in that state/ do not know about.
Options :

1. # Kerala has

2. % forty varieties of rice

3. ¥ that also people in that state

4. % do not know about.



Question Number : 71 Question Id : 7532293511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

I have/ visited/ the golden temple/twice last month.
Options :

1. ¥ I have

2. % visited

3. % the golden temple

4. % twice last month.

Question Number : 71 Question Id : 7532293511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

I have/ visited/ the golden temple/twice last month.
Options :

1. ¥ I have

2. % visited

3. # the golden temple

4. % twice last month.

Question Number : 72 Question Id : 7532293512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the synonym of the given word.

SCINTILLATE
Options :
1. % Help



2. * Render
3. ¥ Gleam

4. % foresee

Question Number : 72 Question Id : 7532293512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the synonym of the given word.

SCINTILLATE
Options :

1. * Help

2. # Render
3. ¥ Gleam

4. % foresee

Question Number : 73 Question Id : 7532293513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct antonym for the given word.

flexible
Options :

1. # supple

2. % liberal

3. ¥ rigid

4. ® adaptable

Question Number : 73 Question Id : 7532293513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the correct antonym for the given word.



flexible
Options :

1. # supple

2. % liberal

3. ¥ rigid

4. ® adaptable

Question Number : 74 Question Id : 7532293514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate idiom. The meaning of the idiom is given in brackets for guidance.

Meena flew off the (lost her temper) and shouted at her brother when she saw the damaged phone.
Options :

1. # hearth

2. % hanger

3. % handle

4. # helmet

Question Number : 74 Question Id : 7532293514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate idiom. The meaning of the idiom is given in brackets for guidance.

Meena flew off the (lost her temper) and shouted at her brother when she saw the damaged phone.

Options :

1. # hearth
2. # hanger
3. % handle
4. # helmet

Question Number : 75 Question Id : 7532293515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the one-word substitute for the highlighted group of words in the given sentence.

“Gone, but never forgotten,” read the words on his gravestone.
Options :

1. # Manuscript

2. % biography

3. ¥ Epitaph

4. % Memorial

Question Number : 75 Question Id : 7532293515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the one-word substitute for the highlighted group of words in the given sentence.

“Gone, but never forgotten,” read the words on his gravestone.
Options :
1. # Manuscript

2. # biography

3. % Epitaph

4. ¥ Memorial

Sub-Section Number : 2
Sub-Section Id : 753229226
Question Shuffling Allowed : Yes

Question Id : 7532293516 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

In the following passage some words have been deleted. Fill in the blanks with the most suitable option. Choose the most appropriate option for
each number.

One of the most famous people in the world, Walt Disney left school at the age of sixteen and studied art for a (1) period of time. By the
1920s he had already started to produce cartoons in Hollywood in (2) with his brother, Roy. Walt Disney is perhaps best known for his
3) cartoon character, Mickey Mouse, who first (4) in a cartoon film called ‘Steamboat Willie’ that was released in 1928. Another



very (5) cartoon film is ‘Snow White and the Seven Dwarfs’. When it was released in 1937, it was the first full-length animated feature
film in colour and with sound.

Sub questions

Question Number : 76 Question Id : 7532293517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 1.
Options :

1. # little

2. # narrow

3. # decreased

4. % short

Question Number : 77 Question Id : 7532293518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 2.
Options :

1. ¥ partnership

2. % relationship

3. # friendship

4. % membership

Question Number : 78 Question Id : 7532293519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 3.
Options :

1. # boring

2. % serious

3. ¥ lovable

4. # general



Question Number : 79 Question Id : 7532293520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 4.
Options :

1. * came

2. * began

3. * watched

4. ¥ appeared

Question Number : 80 Question Id : 7532293521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 5.
Options :

1. * average

2. ¥ popular

3. % vague

4. % strange

Question Id : 7532293516 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

In the following passage some words have been deleted. Fill in the blanks with the most suitable option. Choose the most appropriate option for
each number.

One of the most famous people in the world, Walt Disney left school at the age of sixteen and studied art for a (1) period of time. By the
1920s he had already started to produce cartoons in Hollywood in (2) with his brother, Roy. Walt Disney is perhaps best known for his
3) cartoon character, Mickey Mouse, who first (4) in a cartoon film called ‘Steamboat Willie’ that was released in 1928. Another
very (5) cartoon film is ‘Snow White and the Seven Dwarfs’. When it was released in 1937, it was the first full-length animated feature
film in colour and with sound.

Sub questions



Question Number : 76 Question Id : 7532293517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 1.
Options :

1. # little

2. % narrow

3. % decreased

4. ¥ short

Question Number : 77 Question Id : 7532293518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 2.
Options :

1. ¥ partnership

2. % relationship

3. # friendship

4. % membership

Question Number : 78 Question Id : 7532293519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 3.
Options :

1. * boring

2. # serious

3. % lovable

4. % general

Question Number : 79 Question Id : 7532293520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the most appropriate option to fill blank no. 4.
Options :

1. ® came

2. % began

3. ®* watched

4. ¥ appeared

Question Number : 80 Question Id : 7532293521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option to fill blank no. 5.
Options :

1. % average

2. % popular

3. % vague

4. % strange
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Question Number : 81 Question Id : 7532293522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TR I & Rad = A {5 sreqg &1 uaieT 981 g
Options :

1. % old

2. % dd

3. ¥ ddh

4. % gl

Question Number : 81 Question Id : 7532293522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H I @ Tet 1’ are & o R A fhg 310 &1 UanT It g
Options :
1. % 9§
2. % dd
3. ¢ qPH
4. % g1

Question Number : 82 Question Id : 7532293523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

EIER GRS Wil |* 91 & Rad ®IM H g HReb b1 FA1TT el g2
Options :

1. % Bl

2. ¥4

3.% 9

4. % B

Question Number : 82 Question Id : 7532293523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R AT @ I & Rad ®IF § f6g SRS 1 IR 98t g
Options :

1. % &I

2. ¥4

3.% 9

4. % o[

Question Number : 83 Question Id : 7532293524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T = I YR fhar g 1° a1 & Rad ®IF & o -39 fawed wat fagivor g2
Options :

1. ¢ JHBIA!

2. % THDI

3. % dHhdH

4. % JHDI

Question Number : 83 Question Id : 7532293524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3T = I YR fhar g 1° a1 & Rad ®iF & o -39 fawed Tat fagivor g2
Options :

1. ¢ THDIA

2. % THDIA

3. % gHDAM

4, % JHDI

Question Number : 84 Question Id : 7532293525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafied & @ ®F-91 916 Thae &1 g a1l 82
Options :

1. % T, e, e STfe &1 de ST 8i o |

2. % IO gaT|

3. ¢ 3% U Sgd A1 ¢ |

4. % GBI T AR B

Question Number : 84 Question Id : 7532293525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafiied & § ®F-91 916 Thaa &1 G a1 82
Options :

1. % g, Tame, fad safe &1 dd a1 giar g

2. % 0T gl

3. ¥ 3% TN 9gd AT |

4. % QI T AR 7

Question Number : 85 Question Id : 7532293526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



‘T b1 faufRT IMgd Sgaa o1 g
Options :
1. % S8
2. % gl
3. % §gA
4. g

Question Number : 85 Question Id : 7532293526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘e’ o1 faufad e aga== a1 g
Options :

1. % qgHl

2. % qgl

3. % §gd

4.« g8+

Question Number : 86 Question Id : 7532293527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Freurr &1 98t diY-fowse T g
Options :

1. ¢ 3+ 3urg

2. % (443U

3. % .+ 3U™

4. % 9+ 3U™

Question Number : 86 Question Id : 7532293527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feurr &1 9t IfY-fawse s grm



Options :

1. ¢ .+ 3ur
2. % 7+ 3um™
3. % 4%+ 3Ug
4, % Y+ 3U™

Question Number : 87 Question Id : 7532293528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR 71 el AiY-fawse |82
Options :

1. % I +9R

2. % I+ 9R

3. % YH+ IR

4.« JH + 4R

Question Number : 87 Question Id : 7532293528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR &1 et AfY-fawse F1 g2
Options :

1. % J9+39R

2. % g +9R

3. % JH+UR

4. % JH + 4R

Question Number : 88 Question Id : 7532293529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U o1 Te! Y- fawde o-arg?

Options :



1. % W+ 3ad
2.+ JUR + Iad
3. % IR+ Yad
4. % JUN +gad

Question Number : 88 Question Id : 7532293529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Iuda o1 Te! Y- fawde oH-arg?
Options :

1. % W+ 3ad

2. ¢ JUR + I

3. ¥ IR +Yad

4. % JUR + gard

Question Number : 89 Question Id : 7532293530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTREX STt ST} Tt IR A1 81 I & | aTe o Yaifehd 3f=7 &1 Wiae1fid - & fae Suged faswed gfu|
Options :

1. % JTA A B

2. ¢ IIAUSA 5|

3. % I MM S8 5

4. % A I3 |

Question Number : 89 Question Id : 7532293530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IREX STt SIRT Y Tt IR X1 81 A1 & | 916 o $ifchd Si=7 ! WA - & o Suged fdded giu|

Options :

] % Al




2. ¢ 3IIAUSA 5|
3. % It MBI B
4. % 3 33T &

Question Number : 90 Question Id : 7532293531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 qHY T_Y STd 3 91, a1 Dal Dbl 1 g | a1 o Wifohd 3R Bl UTaATid 3 & ot Iuged faden gt
Options :

1. ¢ QTSI 3G ol

2. % HHNS TG Al

3. % GG ol

4. % i ¥ @l

Question Number : 90 Question Id : 7532293531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U AT T I X Al IRAT Bl BT A g | A & 3Qifobd 3= D1 UG HRA & el Sugad fadhed g-a|
Options :

1. ¥ TSI @ ol

2. % HHS @ dl

3. % R IG dl

4. % gidi @ dl

Question Number : 91 Question Id : 7532293532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIITCl! & fret e eiepifer b1 Hel 31 om 82
Options :

1. % IS 9% 9 I hdl Gl ! gl |

2. % B faufy I gear gt fauhl & ue-|




3. ¥ U YElad IR g8 Jfied 31 gs|
4. % 99 a7 U 99H 81 81|

Question Number : 91 Question Id : 7532293532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR H 3TeT T adbifad o1 agt o Fr g2
Options :

1. % UIS g § 3axghal I e g

2. % BId) faufy I gear 9t faufy & ue|

3. ¥ Uoh QUIad TR gIR| GHiad 311 US|

4. % g9 fa7 TH GHE a1 8id |

Question Number : 92 Question Id : 7532293533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=it faw e gy feie Wsdl # U a8 fadbed g fors Weg-3rd # dreme 81|
Options :

1. ¢ 3 =3V, 3 = IR

2. # 3 =3, AN = IR

3. ® QI =3, A = 3{d

4, & AN =3, qIRT = A

Question Number : 92 Question Id : 7532293533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=ite U T THy firedies Weal # 9§ % fdsbed g o eq-3rd # drerder 811
Options :

1. ¢ 3 =3V, 3 = IR

2. ® 3 =3, AN = IR

3. ® QIR =3, g = 3d




4. % AN =3, g = 3

Question Number : 93 Question Id : 7532293534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fou T fawen O 9 aa-t & € 9 s ek A |
Options :

1. % Aqif

2. ¢ Harh

3. % iR

4. % gqifafor

Question Number : 93 Question Id : 7532293534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fau ¢ fased! o & aa-t o1 =fP 9 Y e I |
Options :

1. % i

2. ¢ Sarh

3. % AqifoR

4. % gaifafor

Question Number : 94 Question Id : 7532293535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e # A H-1 fabed 3Ry ggaa 181 82
Options :

1. % 378

2. v 34Y

3. % 3g

4. % FADI




Question Number : 94 Question Id : 7532293535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafied & § ®F-91 fddhed 3ayey sgaa- gl 82
Options :

1. % 3

2. v 39Y

3. % I

4. % I

Question Number : 95 Question Id : 7532293536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YdHTd & - g 81d 82

Options :

1. % dF

2. % TR

3. % Ui

4. ¥ 3%

Question Number : 95 Question Id : 7532293536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT P fbd 9e Bla 8

Options :

1. % dH

2. % R

3. % Ui

4. ¥ 35
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: No

Question Numbers : (96 to 100)

YINT & HILH & 7S 307 Hral SR faRT &1 T g IR Uehe &l g | URwg U¥ U8 36T & b ol [aaR-faf e & gaft wne s
Bl Thd g | TN U ¥ 98 Pig H ATETH "UINT HgT off Tehdl g foTdb gRT TH W4 30 R G dd Ugdl U, JUT -SIerHl, geob]
T 3117 | TR YT ST 2P | Tahall bl HTST &} BT Sff TebelT| HTST B TRHTT S U I 3 BT § -"edIHD Neal gRT fa=R} bl
T IhRUT Bl HINT § 1" 01 3 9 IRHTT ®I NS =0 T URdd fha1 81 3% SI9R, "I Wea| gRT gadTd HIdl 7T faaR! &1

Y IhRUT B HTT § 1" dorel & SR, ' HINT Ueh UHR &1 I 71 g I e 39 Udian! ¥ § foHe gRT AMa 3uA faaR gkl R Udhe
AT 21" 39 =D I ¥ afRuren AR UTs &) A ST Toha § el TRt 3t fRiffafes efifiarch & forar §, o fah ardta snfa
3T AT foRIY & o & 19 JTefwde d IR dlied Udic! BT TN 6 I=RUN a7 4a0T 3ggd] gRT UREferd T &t
HIRIT 31" T URHINT F HIWT & 7T 3Taeges G ded SHR THIE TP §1 W1d & | SIE-HIWT HId SiTfd 3 81 Saifdrd g | ug-uaft +f feddi-A-
for el TR F 3U HTa 31 UR-UTEr! deh Ugall §ehdl & UR 98 HINT a1 g | 31! YR A HINT FHIS! fAY & &l & offd b1 el g | Th
HTST T 3701 AT TS 81T 8 | S AN & 918% I HINT BT Bis 31 781 gidT| e 9 & aafaaal & ofe 9 eafar Rl g gt 8

Sub questions

Question Number : 96 Question Id : 7532293538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few 3 eIy 3 for Sfera < o & 9 @ g
Options :

1. % YIS & 3{qFd

2. % Y[ h[Hgd

3. ¢ YN 1 RIS

4. % Y91 &1 IUTSTT

Question Number : 97 Question Id : 7532293539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARRT 3T feiffaRed efi=iars & I 6-

Options :



1. % Wie
2. % 70
3.« AR U
4. % oo

Question Number : 98 Question Id : 7532293540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 1 GRUTST Sl U TS 1 GEITd HTa aT faaRT & Tehc1h_ul o HIegw o w0 # (9 & § fpam wifua fear g2
Options :

1. ® ie

2. IO

3. % TR ST feiftafess effrarsh

4. % AR U

Question Number : 99 Question Id : 7532293541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TerrRr <t Y U Bt uRUTTST o SR UR T & Gaie & o1 g el 82
Options :

1. % YT fI=RY T eduTeS b IHRul g |

2. % FYHE Veq] GRT GG HIG! BT UH IHRUT YT B |

3. % Y7o foaRY &1 Udhe & B Ui [Ig ]

4. {91 A4 oM U9 OR[-UTert & s et AT B o1 J1eH g |

Question Number : 100 Question Id : 7532293542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & § W7o 1 o TET -

Options :

1. ¢ TNT H1-d Sl & g1 eifdd =18t g

2. % T AT IR & FERHl & &1 HTH FHRall o |




3. % Tep YT T YT i U ST 5|
4. ® ¥ gAY & Aol & g i AR g Sl 8|

Question Id : 7532293537 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

HTST & HIEH Y AW U HIdT 3R faaRT &1 Ueh gTR IR Uebe Sl 8 | g U I8 3341 & b 1 faar-fafea & gt wne Hion
HEA Thd g | TR 7Y § 98 Pig ) HAIeqH "UTST g1 off Tehall § fSI% §RT TS W4 U IR g¥R d Ugal 9o, TUT -SIeHT, ]
O TS | TR UTST AT B F Hhd! DI UTST 6] BT off Tl | HTHT &1 GRUTHT Gl U I - Fg1 ¢ -"eF-A[HP ea| gRT [GaR] Bl
YeHThR0T Bl HTST 1" 701 = 3 GRUTT &1 TN U # URdd 61 8 | 371 SUR, "eI-Té® Weq] gRT g&aid YTl auT faamy &1

T IHRUT Bl HINT § 1" dol o SR, ' HINT U TR o1 g o | g S 39 Ucdiap! 9 ¢ o gRTAMA 3UA faaR gakl IR Udhe
FRAT 5 1" T D I AT TRUTT AR UTS B! AT O Tobll § fora 1 AR 31t feifiafRees efiAmarsT & forar g, T fd amda sifa
3{dT JHTSl [IRIY & Y o oI Yefade d YRR difeieh Ui ol TIRT R SR 94T HJ0T 3ad! gRT GRaerd Ty &l
TIRIT 51" T URHIST F HIWT & AT 31azass G Ted SHR TRIE T 51 10 & | SIY-HINT JId ST 3 81 Saifdd o | og-uaft +ff fhdiA-
foeft UPR & 31U Hid 31 UY-Ufardl b Ugal Hebdl § UR 98 HINT a1 5| 381 UHR Y HINT GHTS! fIAY & Y=l & s H1H Rl 8| Th
UTST T SOHT AT 7T 81T 8 | S TSl & S8R 39 HINT &1 iy 3l gt giaT | i THTeT & Afeadl & ard 4 @il FRY gl giel 6 |

Sub questions

Question Number : 96 Question Id : 7532293538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faq T gy o fore Iferd <o 9 H Qg
Options :

1. % Y9 & 3fagd

2. % YN[ [ Hed

3. ¥ HINT T GRYT

4, % YIS BT JUTGHT

Question Number : 97 Question Id : 7532293539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR it feiffafes et & aae &-

Options :



1. % Wie
2. % 0V
3. ¢ AR UTs
4. % 9o

Question Number : 98 Question Id : 7532293540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS &1 GRUTST G U T BT BEaTd UTa aT faaR| & UahcidhRul & Moy & &0 § 9 & 9 forem wiifa fear g2
Options :

1. % wic

2. ¢ U

3. % TARRY 3T feifafees efiHiarsh

4. % DRI UTg

Question Number : 99 Question Id : 7532293541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TerrRr H <t Y 1T Bt gRUTTIST o SR UR HTT & Gaie & o1 g el 82
Options :

1. % Yo7 foaR) &1 s3I s UHheIprul g |

2. % YIS Ued! GRI GEATTd HIA BT UHC BT HINT B |

3. % Y7o foaRY &1 Udhe & H1 Ui [Ig ]

4.« TN A4 ST U9 ORI-UTert & st et AT B &1 A1 g |

Question Number : 100 Question Id : 7532293542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 B & T T o T8 &-

Options :

1. ¢ YT H19d STl ¥ 51 Haifdd 81 5 |

2. % T YA IR & TRl & &1 HTH Rl 5|




3. % Tep YT T YT A THS ST 8|
4. * O gAY & Afeadl & o g e g Sl 8|

Disciplinel
Group Number : 6
Group Id : 753229190
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 753229190
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229229
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532293543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



National Education Policy (NEP) 2020 proposed that universal provisioning of quality of early childhood development, care and education must
be achieved. What is the deadline for this?

Options :
1. % 2030
2. % 2035
3. % 2040
4. % 2045

Question Number : 101 Question Id : 7532293543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

18T fR1em A (NEP) 2020 H yifad fasar 7 B fob URfYe STearaw fasm, daHTe SR g &t Juradn &1 JraHiie urau gikid
fob T ST 13T | 39 T1ed 1 U o forw e Hiem o 82

Options :

1. ¥ 2030

2. % 2035

3. % 2040

4. % 2045

Question Number : 102 Question Id : 7532293544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The National Early Childhood Care and Education Policy was approved by the Government of India in:
Options :

1. ® 2010

2.% 2013

3. % 1993

4. % 2011

Question Number : 102 Question Id : 7532293544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TP YRIHeb STedTaRAT S@HTS 3R RI&M i Y HRd TR GR1 Dd rgHlfad fobar mar ur
Options :
1. % 2010
2. ¥ 2013
3. % 1993
4. % 2011

Question Number : 103 Question Id : 7532293545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Government of India adopted the first National Policy for Children(NPC) for the well being of children in:
Options :

1. % 1950

2. % 1962

3.9 1974

4. % 1981

Question Number : 103 Question Id : 7532293545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd IBR A S| b Hed1u & 7T ygelt AP Fifd (NPC) Bl b 3R fobam
Options :

1. * 1950

2. % 1962

3. ¥ 1974

4. % 1981

Question Number : 104 Question Id : 7532293546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ECCE covers the stage of .
Options :



1. ¥ Pre — primary education
2. #® Primary education
3. # Secondary education

4. ® Elementary Education

Question Number : 104 Question Id : 7532293546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR STeaTaRIT ST 3R g ot S8 WS, (ECCE) f5d TR ) Bk PRl 22
Options :

1. ¢ gd-urifies fRienm

2. % T e

3. % H1efHeh fRIaf

4. % gfardt fRren

Question Number : 105 Question Id : 7532293547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Quest ECD in Indian context stands for:
Options :

1. # Elementary Curriculum Development
2. ¥ Early Childhood Development

3. % Early Curriculum Development

4. ® Essential Curriculum Development

Question Number : 105 Question Id : 7532293547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRA TeH & e . 3. (Quest ECD) &1 31 Fm 82

Options :
1. ® QF“]EI'E'\; Oblnigpﬂl-l SaquHC (Elementary Curriculum Development)




2.+ 3[dil AI3e8gd SdAUHE (Early Childhood Development)
3. % 3faf W’q SqdgHe (Early Curriculum Development)

4. ® Q@”QIEIFI Oblr\ﬁgpﬂl-l SAdgHC (Essential Curriculum Development)

Question Number : 106 Question Id : 7532293548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first three years of ECCE program focuses on:
Options :

1. ¥ Nutrition

2. % Health

3. % Cognitive

4. ¥ School readiness

Question Number : 106 Question Id : 7532293548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AW 3. (ECCE) PRHH & Ugd o Iy frg R Higd g2

Options :

1. ¢ U907 (fC=H)

2. % WA (FX)

Question Number : 107 Question Id : 7532293549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The RTE Act which came into effect from 1.4.2010 has addressed ECCE under:
Options :

1. % Section 11

2. ® Section 29



3. #* Section 31
4. % Section 35

Question Number : 107 Question Id : 7532293549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 310 2010 (1.4.2010) ¥ THTE 3RS, (RTE) 3ifafam, & dgd . WS, (ECCE) ol Jaiferd Bl g
Options :

1. ¥ YRT 11

2. % YRT29

3. % YRI 31

4. % YRT 35

Question Number : 108 Question Id : 7532293550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who were the pioneers of the ECCE movement in India?
Options :

1. ¥ Gijubhai Badheka and Tarabai Modak

2. % Mahatma Gandhi and Rajendra Prasad

3. ® Jawaharlal Nehru

4. ¥ Bhim Rao Ambedkar

Question Number : 108 Question Id : 7532293550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRA # 3.3 g (ECCE ) 3ffale & 3Rigd & &2
Options :

1. ¢ FIUTE SUHT 3R IRTETS Aedh

2. % TETAT Mt SR Aol UG

3. % ST A e




4. % HIIRIG 3jdgH

Question Number : 109 Question Id : 7532293551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term '1Q" was coined in 1912 by the psychologist in relation to the German term Intelligenzquotient.
Options :

1. ¥ Stern

2. % Binet

3. ¥ Wechsler

4. # Cattell

Question Number : 109 Question Id : 7532293551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1912 H, ST T3 Intelligenzquotient b &Y T '3M3. Y, (1Q ) X b HAIART D GRT TGT T UT?
Options :

1. v &

2. % §IEAT

3. % JURR

4. % Hed

Question Number : 110 Question Id : 7532293552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who stated that play had a major role of rehearsing, where the child rehearses actions pertaining to real life situations in a safe, risk-free
environment, where the child is preparing himself/herself to face the difficult situation in a less stressful way.

Options :

1. ¥ Bruner
2. # Freud
3. ¥ Dewey
4. % Piaget



Question Number : 110 Question Id : 7532293552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem FeT ¢ b ATee H qanar &1 T i gidt §, STg] ae QRIard, STRIFRfed aTaraRur # aRdided sita- o uRfedfaal & defird
fopamaft &1 qaharg &Rl ¢, R Sl HH a-aqul diids ¥ Hie- uRIRUTT &1 1 A & il e &1 IR &al 82

Options :
1. ¥ R
2. % oIS
3. % gat
4, % O

Question Number : 111 Question Id : 7532293553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which period of pre-natal stage is often referred to as the "golden trimester."
Options :

1. % The first trimester

2. % The second trimester

3. * The third trimester

4. % Both-first and the second trimester

Question Number : 111 Question Id : 7532293553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T4 Yd AR $1 o 37afy 1 SR g faTe! (s TRaeR)” $Hel oIl 67
Options :

1. % ugalt fomme

2. ¢ G faHTRt

3. % s fammet

4. % U 3R guRY fommat St



Question Number : 112 Question Id : 7532293554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a symptoms of gifted:
Options :

1. # Curiosity

2. % Creative ideas

3. ® Novelty in expression

4. ¥ Fighting with others

Question Number : 112 Question Id : 7532293554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfRad & ¥ $1F-91, T WAyl &1 A& T8l 72
Options :

1. % form

2. % TTARIS fdaR

3. % Sf¥eufdd o AdIHI

4. ERIQ ISR

Question Number : 113 Question Id : 7532293555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Zone of proximal development’” was explained by:
Options :

1. ¥ Vygotsky

2. % Bandura

3. % Kohler

4. % Hull

Question Number : 113 Question Id : 7532293555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR {3 &1 & fhad gRT IHSaT 747 82
Options :

1. ¢ BN

2. % g

3. % Pleg

4. % B

Question Number : 114 Question Id : 7532293556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which habit is found more and more in Childhood?
Options :

1. # Studying

2. % Crying

3. ¥ Mimicking

4. # Fighting

Question Number : 114 Question Id : 7532293556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HH-H 3MTed ITTTRIT H Fad e TS S 62
Options :

1. % UgTs

2. % %qd

3. ¢ AHJHTT

4. % TSI

Question Number : 115 Question Id : 7532293557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Jean Piaget proposed stages of Cognitive Development.
Options :

1. #* 1

2.% 2

3.%3

4. ¥ 4

Question Number : 115 Question Id : 7532293557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 0TS A ST [dhT™ & TRUT ] FKITd G|
Options :

1. %1

2.% 2

3.% 3

4. ¥ 4

Question Number : 116 Question Id : 7532293558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to John Locke, a child’s mind does not contain any
Options :

1. #* Memory

2. * Imagination

3. * Observation

4. ¥ Innate ideas

Question Number : 116 Question Id : 7532293558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S i & TR, §d & fearT & TR gIdT g/ giat ol




Options :

1. % i

2. % Doyl

3. % 3faclih
4.« gl fdaR

Question Number : 117 Question Id : 7532293559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The CHORONO system is associated with:
Options :

1. # Theory of cognitive development

2. #® Theory of moral development

3. ¥ Theory of ecological development

4. ® Theory of perceptual development

Question Number : 117 Question Id : 7532293559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI YUt (CHORONO system) fHad Taiferd g2
Options :

1. % IS fadbr &1 Rigid

2. % Afaw fawr &1 Rigid

3. ¢ UIRTRUfae 9o &1 Rigia

4. % JIYRUTHS fahrg o1 Rigid

Question Number : 118 Question Id : 7532293560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Children are usually egocentric during and stages.

Options :



1. ¥ Sensorimotor, Preoperational

2. # Formal operational, Sensorimotor
3. % Preoperational, Concrete operational
4. ® Concrete

Question Number : 118 Question Id : 7532293560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= IYRUIS: 3R RN & GRM 3ghisd B g
Options :

1. ¢ Hafde- U=l s/awt, gd-dfharats sraw

2. % I AfhATHD TR, Hafgd-U= Sl

3. % Qo-UfehaTcd STRIT, Yol AichaTHD ST

4. % Td AfhareTd SawdT

Question Number : 119 Question Id : 7532293561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Thinking with senses’ comes under which stage?
Options :

1. ¥ Sensorimotor stage

2. ® Pre-operational stage

3. # Operational Istage

4. ® Formal operational stage

Question Number : 119 Question Id : 7532293561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
33l ¥ faI9R (Thinking with senses)' ford /a®yT H 317dT 82

Options :

1. ¢ Hafedh-URi 3ot



2. % J4-ichaTHd T
3. % HfhdaTds gUH 3awl
4. % 3AC AlhaATHD SHTRIT

Question Number : 120 Question Id : 7532293562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a true statement?
Options :

1. # Development is from middle to periphery
2. % There is no any sequence.

3. ¥ Development is from head to foot.

4. # Development is from foot to hand.

Question Number : 120 Question Id : 7532293562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafeiad 7 9 oH-91 9 By 82
Options :

1. % g aer 9 Uiy &t iR grar g |
2. % [IBTG BT PIS HH el 3

3. ¢ 9% RR A uig 9@ gt g

4. % [P R Y Y B I 5|

Discipline2
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Group Id : 753229191
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 753229191

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229230

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7532293563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the pre-primary stage reading aloud while writing is given importance. This is based on which theory of learning?
Options :

1. * Trial & Error

2. ¥ Conditioning

3. * Insight

4. % Imitation

Question Number : 121 Question Id : 7532293563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Td-UTY i TR W forgd 999 S WR § U & Jed (41 ST 8 | I8 310 & by Rigid IR e g2
Options :

1. % ygd-Ffe fafd

2. ¥ 3fIEYA

3. % 3fcei®

4. % 3IPlA

Question Number : 122 Question Id : 7532293564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the pre-primary stage reading aloud while writing is given importance. This is based on which theory of learning?
Options :

1. ¥ Preschool children

2. % Pregnant women

3. ¥ Non-pregnant women

4. % Men

Question Number : 122 Question Id : 7532293564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Td-TUfe WR TR forgd 990 3o W § UeH &1 A fedl JIdl 8 | I8 $ieqd- & by Rigid IR St 82
Options :

1. ¢ gdideed 9

2. % mfac Afgand

3. % TRmadt afiRany

4. % 2

Question Number : 123 Question Id : 7532293565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is best one to prevent dehydration when child has diarrhea?



Options :

1. # Water

2. # Broth

3. # Fruit juice

4. ¥ Water and Broth

Question Number : 123 Question Id : 7532293565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Bl 3% (STRATN) 8 R FAoieliamRun (SeRaeH) Adh- & fore Fufied § 3 o 9ol 399 82
Options :

1. % O

2. % QRS

3. % Tha XY

4. U IR RIRET

Question Number : 124 Question Id : 7532293566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Common to both acute and chronic malnutrition is:
Options :

1. ¥ Weight for age

2. % Weight for height

3. # Height for age

4. % BMI

Question Number : 124 Question Id : 7532293566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 3R Sl puiwor g1 & o, fg & 9 o w32

Options :



1. ¥ 39 g do

2. % $ATs 5g IO

3. % Y gG Hdls

4. % S TH.3MS. (BMI)

Question Number : 125 Question Id : 7532293567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the target for Achieving the Sustainable Development Goal of ‘Zero Hunger’?
Options :

1. % 2030

2. % 2035

3. % 2040

4, % 2045

Question Number : 125 Question Id : 7532293567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A YGERT & JId AT A6 P1 UTd B BT A&7 1 82
Options :

1. % 2030

2. % 2035

3. % 2040

4. % 2045

Question Number : 126 Question Id : 7532293568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to NFHS Survey, 2015-16, what is the percentage of children having low birth weight(less than 2500 grams) in India?
Options :

1. % 33.2



2.% 253
3. % 222
4.4 182

Question Number : 126 Question Id : 7532293568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH.U%.T9.TY. (NFHS) A&, 2015-16 % IR, YRd H O & THI HH go (2500 TTH I HH) Tal s=di &1 Ufa=rd fara g2
Options :

1. % 332

2. %253

3. % 222

4. ¥ 18.2

Question Number : 127 Question Id : 7532293569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The children who are not growing well are the victims of the three strands of the triple burden of malnutrition .These are-under nutrition, hidden
hunger and overweight’-is stated by:

Options :

1. ¥ UNICEF
2. % WHO

3. # ICDS

4. = ICMR

Question Number : 127 Question Id : 7532293569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 o=t o1 fara Sier T 181 81 T €, 9 F UBR & HUINT & ISR g1 A 8- 3¢ TN, Gives dadl 1wl (B 87R) 3R 3ifies o
- g foraes gR1 uRTfya fasan man g2

Options :

1. ¢ g% (UNICEF)




2. % fay WOy W+ (WHO)
3. % M. ST, (ICDS)
4. % 313 T TH.3MR. (ICMR)

Question Number : 128 Question Id : 7532293570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to NFHS Survey, 2015-16, what is the percent of exclusively breastfed children under age six months in India?
Options :

1. % 45

2. % 40

3. % 35

4. ¥ 55

Question Number : 128 Question Id : 7532293570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TF.U%.T9.TY. (NFHS) Td&UI, 2015-16 % IR, YRd H B8 AeH J HH IH a1, [aRs o T-0itd s &1 ufawrd fooan g2
Options :

1. % 45

2. % 40

3. % 35

4, ¥ 55

Question Number : 129 Question Id : 7532293571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Special education is related to

Options :

1. # Training program for retarded.

2. # Training programs for teachers.

3. % Educational programs for disabled.



4. % Educational for talented students.

Question Number : 129 Question Id : 7532293571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foRwfren_ qd«fag

Options :

1. % TegfS og UrRiem sriey

2. % e oq URI&O HrdHH

3. ¢ famanm (e gq e wrdemn
4. % YT ST 8 A

Question Number : 130 Question Id : 7532293572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE pedagogy highlights that language should be learnt by processes in the following order:
Options :

1. #® Speak-listen -read-write

2. #® Read-speak-read-write

3. ¥ Listen- speak-read-write

4. ® Write-listen-speak-read

Question Number : 130 Question Id : 7532293572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2.3 413, (ECCE) IR 39 a1d W USRI STedT ¢ fob 1T &1 fFafafad &a o uftrarsit & SrgaR ket S =gl
Options :

1. ® SA-GA-Yg-fera

2. % UgAI-SII-UgI-ferRaT

3.« GAAI-SI-UgHT-fergHT

4. % foRg-gA-1-dIeH1-UgT




Question Number : 131 Question Id : 7532293573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a continuous, all-comprehensive process which goes through changes and modifications, additions and alterations.
Options :
1. % Curriculum
2. # Plan
3. % Academic

4. ® Play

Question Number : 131 Question Id : 7532293573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ TH qqd, GHY-HTGE Uikl g S URad 3R I=eH, IRaeH 3R gdad- & 1y 9 ol ¢ |
Options :

1. ¥ UIgdhH

2. % Yol

3. % 3fBIGIHD

4. % @d

Question Number : 132 Question Id : 7532293574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE programme needs to be determined by children’s developmental and needs.
Options :

1. ¥ Contextual

2. # Perceptual

3. # Sensational

4. % Circumstance

Question Number : 132 Question Id : 7532293574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

S E. (ECCE) PRIHH &I §l & [ApED iR STaasarsl gRT iR B3 B S1azadhal gidt o
Options :

1. ¢ Ui

2. #® HIYRUMHD

3. % HdaATHD

4. % URRRUFA

Question Number : 133 Question Id : 7532293575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Curriculum is interpreted to mean all organised courses, activities and experiences which stands under the direction of the school, whether in the
class room or not, is said by:

Options :

1. # John Dewey

2. # Stephen Romine
3. % H.Rugg

4. ¥ Hida Taba

Question Number : 133 Question Id : 7532293575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aTeashH H1 372 39 Tt Ifed uraushat, Tafafial ok srIval o § S b d & Ha=H H &, 918 Bl | 8l a1 g1, a8 URHTT faq & 82
Options :

1. ® S Sal (John Dewey)

2. % WKh- AT (Stephen Romine)

3. % Ud. 7T (H.Rugg)

4. ¢ T8 dIal (Hilda Taba)

Question Number : 134 Question Id : 7532293576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which should not be considered for ECCE curriculum planning:
Options :

1. #® Nurturing children’s gross motor skills.

2. ® Nurturing children’s fine motor skills.

3. # Organising parent-teacher meeting.

4. ¥ Paying teacher salary.

Question Number : 134 Question Id : 7532293576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3. 01913, (ECCE) Ureushd o & fo frd | faeR T8l foran S =nfew?

Options :

1. % g &b T UM DI (motor skills) BT T HAT|
2. % W%ﬁ@ﬂmm(motor skills) BT GTS0T BT |
3. % JHYUTTD-RI&H I6H BT TS HRAT|

4.  TR1e/ o1 a4 <1

Question Number : 135 Question Id : 7532293577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mind of children Tabula Rosa are:
Options :

1. ¥ Tablet Mechanized

2. % Good children

3. ¥ Clean slate

4. % Tablet raised

Question Number : 135 Question Id : 7532293577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



W%ﬁﬁmﬁm@ﬁﬁ%mw (Tabula Rasa) ®gd 82
Options :

1. % Tqaic J}IEO"HSUS (Tablet Mechanized)

2. % 78 ﬁl@q (Good children)

3. ¢ & Wi (Clean slate)

4, % TYAC T (Tablet raised)

Question Number : 136 Question Id : 7532293578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who created the teaching of young children in children’s garden type of style, also known as kindergarten?
Options :

1. % Montessori

2. % Rousseau

3. ¥ Froebel

4. % Comenius

Question Number : 136 Question Id : 7532293578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B I P AU BT I e, R fbgwnd Wt Hg1 wirar 8, 1 ufqure feam fam
Options :

1. % Hied

2. % =4

3. ¢ hldd

4. % HIOATY

Question Number : 137 Question Id : 7532293579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who advocated removing children from their mothers’ care and raising them as wards of the state?



Options :

1. ¥ Plato

2. # John Locke
3. % Aristotle

4. % Socrates

Question Number : 137 Question Id : 7532293579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Sl Bl 3! ATAISH BT TIHTA J G R 3R I8 Iod & a7 & U H Ul &1 IRl Bl g2
Options :

1. ¥ el

2. % S b

3. % 3RT,

4, % GDHd

Question Number : 138 Question Id : 7532293580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The goal of universal access to high-quality ECCE across the country to be implemented in a phased manner. ECCE shall be delivered through
various education institutions. Find out the odd one institution.

Options :

1. % Stand-alone Anganwadis

2. # Anganwadis co-located with primary schools
3. % Stand-alone pre-schools

4. ¥ Kindergarten Sections of Private schools

Question Number : 138 Question Id : 7532293580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3o UG Tl 3.91.41.3. (ECCE) AdHI® Ugd o1 AT RO did I G R H a1 b o1 8 | 3.5 3. fafvs Rremr St &
areny 3 feam S| favy SR F1d S|




Options :

1. % Wdfd TS

2. % UrYfirep ferTeral & A1y 9B-fyq ivHarel
3. % gfrd gd-faemed (W-3ma)

4. T7ol Gl & fheATIe ST

Question Number : 139 Question Id : 7532293581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Education of children with special needs should be provided
Options :

1. ¥ Along with other normal children

2. % By methods developed for special children in special schools
3. # In special school

4. ® By special teachers in special schools

Question Number : 139 Question Id : 7532293581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR STaRgdmar ard gl B e UaH &1 ot a1
Options :

1. ¢ 3 HH &=l b 1Y

2. % R e 3 R s 2 e fafte grr

3. % faxIy faemera

4. % fovIy fagmerdl # faviy fRygrpl g1

Question Number : 140 Question Id : 7532293582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE programme needs to be determined by children’s developmental and needs.

Options :



1. ¥ Contextual
2. # Perceptual
3. #* Sensational

4. * Circumstance

Question Number : 140 Question Id : 7532293582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 W 3. (ECCE) PRIHH & 5= & fApresd 3R AR AT gRT RuiRd B Ft awgdHar gl g1

Options :

1. ¢ YD

2. % J{JYRUMHD

3. % JdgATHD

4. % GRIRYf
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Question Number : 141 Question Id : 7532293583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has mentioned the importance of play in education?
Options :

1. ¥ Aristotle

2. * Plato

3. * Socrates

4. * Locke

Question Number : 141 Question Id : 7532293583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fR1en o I & Agd o1 Ioord foba far g2
Options :

1. ¥ 3R]

2. % el

3. % I

4. % Qib

Question Number : 142 Question Id : 7532293584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Social value of play is:

Options :

1. # Ensuring proper coordination of muscles
2. ¥ Developing friendly relationships

3. # Developing creativity and imagination

4. % Learning to respect elders

Question Number : 142 Question Id : 7532293584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WS BT UG Hed H1 82
Options :

1. % Uil &1 Ifed ga-ad gAY BT
2. ¢ T e fAHRd o

3. ® TTATHD I \3‘ﬁTd’>c‘-4"II &1 f[dHTg BT
4. % g BT G HAT IRG1|

Question Number : 143 Question Id : 7532293585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Throw and Catch a Ball is associated with:
Options :

1. #® Cognitive development

2. % Fine motor development

3. ¥ Gross motor development

4. ® Perceptual development

Question Number : 143 Question Id : 7532293585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol US & Iy i (Throw and Catch a Ball) T H&¥ fo %?



Options :

1. % TIFETHSD [dpT

2. % g&H UM (motor) faeTy
3. ¢ gHd UM (motor) faHTH
4. % JAYRUMTHS fdhTy

Question Number : 144 Question Id : 7532293586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Recommended toys for independent play may be:
Options :

1. % Soccer ball, tee-ball, or dance bar

2. % Goldieblox or other engineering-geared toys
3. # Sticker books

4. ¥ Play kitchens, train sets, and other imaginative toys.

Question Number : 144 Question Id : 7532293586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WA W b T Srg=ifd feel= 19-9 8 9ebd 82
Options :

1. % FihR did, -97d a1 S IR

2. % TSIl T 3 Sull-ARIT-FIIs Trael

3. % e g

4. ¢ W fora=g, T Iy 3R 39 Hed-RITd el |

Question Number : 145 Question Id : 7532293587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Early childhood is a time of while middle childhood is a stage of .
Options :



1. ¥ Sociodramatic play, games with rules
2. # Sociodramatic play and games with rules, going to school
3. % Games with rules, Sociodramatic play

4. # Sociodramatic play, more complex Sociodramatic play

Question Number : 145 Question Id : 7532293587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS Fau- &1 qHY § Sdid 7§99 IS WU 5|
Options :

1. ¢ g1 Aled g Wd, ! are ©@d
2. % fgw aTe WIS ATedh 1 Wd IR HIeT, W d o
3. % U] aTdl Wd, IS ATedhid Wd

4. % gHI® ATeHh T Wd, Sicddd I Aleh T Ad

Question Number : 146 Question Id : 7532293588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who told? “Play is the work of childhood.”
Options :

1. ¥ Piaget

2. % Hurlock

3. # Skinner

4. ® Vygotsky

Question Number : 146 Question Id : 7532293588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

" TIUT BT BRI g, fHI HBT 82
Options :

1. ¢ oI




2. % gD
3. % PR
4, % TP

Question Number : 147 Question Id : 7532293589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rough-and-tumble play is associated with:
Options :

1. ¥ Development of perceptual defence.

2. # Development of hand-eye coordination
3. ¥ Development of social cognition.

4. # Development of imagination.

Question Number : 147 Question Id : 7532293589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP U8 ¢9d @ (Rough-and-tumble play) BT J&Y fFaa g
Options :

1. % 3AURUNHD & BT f[dbTy

2. % BIY-3{1G GGG T fAbTg

3. TS SUfd BT fddbra

4. % HeuAl BT [dbTy

Question Number : 148 Question Id : 7532293590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Using standardized test for ECCE assessment is:
Options :

1. ® The test should be used by several times.
2. % The test should be used by several persons.



3. ¥ The test should be reliable and valid.
4. ® The test should be constructed by the user.

Question Number : 148 Question Id : 7532293590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2.3 41 3. (ECCE) Heuid & oI HHeIghd TRI&M0N & IUTNT T URSY hT g1 dTfee?

Options :

1. % U&7 T SUANT 5 IR [T ST AT
2. % Ue[U1 BT IYTNT s AfGddl gRT fHa1 ST 1T
3. ¢ TRe faygi 3k 3 g 1T

4. % TA&0T TG gRT ST ST Mg w

Question Number : 149 Question Id : 7532293591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What type of evaluation identifies the learning deficiencies and difficulties of the child?
Options :

1. ¥ Diagnostic

2. # Continuous

3. ®# Summative

4. % Placement

Question Number : 149 Question Id : 7532293591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o YR BT Gedich 9 & SHTEATH G 3R HISATSa! B UgdH odl 62
Options :

1. ¢ Aei-d

2. % fR®R

3. % gD




4. % fgoE

Question Number : 150 Question Id : 7532293592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the process of determining the degree to which children’s needs are met and desired objectives are achieved.
Options :
1. ¥ Evaluation
2. # Planning
3. % Monitoring
4. # Observing

Question Number : 150 Question Id : 7532293592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= BT IR drsd @ g SR qifesd Iexal @ Uit & FuRor &t i ST ufesar 9 & T 31 Hgard o2
Options :

1. ¢ HAh

2. % GioHl

3. # (AR

4. % J[qeih

Question Number : 151 Question Id : 7532293593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The best method to study growth and development of the child is
Options :

1. # Comparative Method

2. % Psychoanalytic Method

3. % Statistical Method

4. % Developmental Method



Question Number : 151 Question Id : 7532293593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I DI gig 3R fTHT BT 31eqT B3 B! Jay 3! fafdy gl

Options :

1. % JoHHD fafd

2. ¢ HAIARAYUNE S fafd
3. % gifgeiy fafy

4. % famr A fafd

Question Number : 152 Question Id : 7532293594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the suitable tool for assessment of ECCE?
Options :

1. #® Personal information sheet

2. ¥ Case study

3. # Interview

4. # Rating scale

Question Number : 152 Question Id : 7532293594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2.4 3. (ECCE) & Heidh & forg SUuged 1eq &1F 91 g2

Options :

1. % fGdTd o1 03 (Td STHIARM 2e)
2. ¢ fad T (hY Tal)

3. % HIATPHR (Sc3)

4. % Tegice-] YA (fET W)




Question Number : 153 Question Id : 7532293595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An important milestone of cognitive development of toddlers is:
Options :

1. ¥ Distinguishing between ‘you’ and ‘me’

2. # Beginning to babble and gurgle

3. ® Wriggling and kicking arms and legs

4. # Responding to the mother’s voice

Question Number : 153 Question Id : 7532293595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< 9] (CISa) & YFHTHS b & SR Th Hg@qUl deR Y & J HH-11 82
Options :

1. ¢ g 3R T & §g 0 HIAT

2. % FSTSHT 3R AT [ BT

3. % BIY-IR A B BT
4. % T BI AT W Ufctehar &l

Question Number : 154 Question Id : 7532293596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reliability is one of the most important characteristics of a standardized test which means:
Options :

1. ¥ Consistency in responses on the test administered over more than one time.

2. % The test measures what it supposed to measure.

3. # The test brings consistent responses as well as measures what it intends to measure.

4. ® Can be used individually as well in a group.

Question Number : 154 Question Id : 7532293596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o] AF® I d TRIEUN &1 Fad Hgaqul aRmarsi A9 Udh ¢ o1 s Bl
Options :

1. ¢ U 9 3% IR fobT 7T uieror R ufcferansii § wfd

2. % Tg e{U1 98 HIUAT § ST 52 HIGHT 1Y

3. % gg Ul il Ufafehart Sar g 3R 1Y g1 39 IuTdl &1 HIudT g i g |- drgdi 8
4. % fGTd UNREOT 1 ATfeH aREU ¥ §

Question Number : 155 Question Id : 7532293597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To make assessment a 'useful and interesting' process, one should be careful about-

Options :

1. ¥ Making comparisons between different students.

2. ® Labeling students as intelligent or average learners.

3. ¥ Using a variety of ways' to collect information about the student's learning across the scholastic and co-scholastic boundaries.

4. ® Using technical language to give feedback.

Question Number : 155 Question Id : 7532293597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B SUANT SR e Wiehar 91 & g FufaRad & 3 &9 I Jaur sRa-l anfge?

Options :

1. % fafia B & & go BT

2. % SHEI DI gfGH AT 3NTd ST H aFfipd Bl

3. ¢ Qe 3R Tg-fere Harell T W SE & T & IR H THGRI T B & o faftre fafda o1 Iuaim s
4. % Yfafehar &= o foTT db-itep! TS BT SUTRT HRAT

Question Number : 156 Question Id : 7532293598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Mind mapping refers to:

Options :

1. ¥ A technique to enhance comprehension
2. ® A plan of action for adventure

3. # Drawing the picture of mind

4. ® Researching the functions of mind

Question Number : 156 Question Id : 7532293598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AES AT I Fr a1y 82

Options :

1. ¢ Y d¢H Bl dDb-Ih

2. % UERI® B g B roT

3. % T P! 91l BT YD HRU]

4. ® T D B IR MY HIAT

Question Number : 157 Question Id : 7532293599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A teacher can assess a stressed child when the child shows the following expressions:
Options :

1. ¥ Aggressive behavior

2. % Full concentration in studies/activities

3. # Excessive talking

4. ¥ Hyperactivity

Question Number : 157 Question Id : 7532293599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= gRI 7Y & ¥ ©H-91 TagR S+ IR e/ 98 & Iobdl & fb ag T # 82

Options :



1. % 3ThTHP TAER

2. % UgIs / Tictaferal # quf T
3. % IS ardiarg

4. ¢ gt

Question Number : 158 Question Id : 7532293600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory of states that language acquisition is due to imitation as well as association.
Options :

1. #® Motivation theory

2. ¥ Learning theory

3. # Self actualization theory

4. ® Emotional theory

Question Number : 158 Question Id : 7532293600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore R o g1 T 8 Toh TS T 315l ST 3R I & HRUT BT 62
Options :

1. % RoT Rigid

2. ¢ YT Rygid

3. % A Ay Rygid

4. % HIITTHSD gl

Question Number : 159 Question Id : 7532293601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who proposed LAD(Language Acquisition Device) as a tool for language acquisition?
Options :

1. # Piaget



2. * Hurlock
3. % Chomsky
4. % Skinner

Question Number : 159 Question Id : 7532293601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LAD (1739 Ui forem farsw) & | SifIvgur & IusHiur & w0 § forgq uxafad fasar um
Options :

1. % fOUTS (Piaget)

2. % gIdi®d (Hurlock)

3. ¢ TP (Chomsky)

4. % f&pR (Skinner)

Question Number : 160 Question Id : 7532293602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Babbling begins ........

Options :

1. ¥ After 3 months

2. % Shortly after birth.

3. % After one year

4. % After going to school

Question Number : 160 Question Id : 7532293602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopft 9= H IeaeMT (i) [y oMy & = glar g2
Options :

1. v 384 & 91

2. % TP $o YA 1




3. % TH IV S dIG
4. % IHd oM b d1G
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Group Maximum Duration : 0
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 7532293603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is Crib talk?

Options :

1. # While talking young children use concrete words.

2. % While talking young children use words .(e.g. choo-choo for train)
3. ¥ Pre-sleep monologue made by young children while in bed.

4. ® Simplified names for objects and actions.

Question Number : 161 Question Id : 7532293603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foh e T (Crib talk) FT 82

Options :

1. ® S0 B 9T BIC T GRT Hd sal BT AN HAT

2. % §1d R THI BIC Tl gRT < &1 3MTATST Bl I & (o8 'F-F' oI Xeq| BT TART AT
3. ¢ O Y Ugd BIc J=dl gRT fohdT S a1d TahTey

4. % X3 3R BTl BT TXefipd AH

Question Number : 162 Question Id : 7532293604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aphasia is:

Options :

1. ® Difficulties in reading.

2. # Difficulties in imitating language.

3. ¥ Difficulties in speaking parts of language.

4. ® Difficulty understanding the meaning of the sounds.

Question Number : 162 Question Id : 7532293604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T 82
Options :



1. % g H Hf3rs

2. % Y & IHR0 H HidT

3. Y & $6 3= P Al J HioTs
4. % FHTl & 3 B TG T HioTs

Question Number : 163 Question Id : 7532293605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Imitation in the field of language is done by:
Options :

1. #® Both parents and children .

2. % Only children

3. # Only parents

4. ® Only school students.

Question Number : 163 Question Id : 7532293605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UTST &7 SIHRT (b GRT [ STl 82
Options :

1. % ATAI-fUdr ok o= ql

2. ¥ Had =

3. % el HIdT-fUdT

4. % Had Wbl BHEl

Question Number : 164 Question Id : 7532293606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Negative evidence in language development:
Options :

1. # Demotivates children in language acquisition.



2. # Is information about the grammaticality of child utterances
3. % Lowers self esteem of children.

4. ¥ 1s less effective in correcting grammatical errors.

Question Number : 164 Question Id : 7532293606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT & 3T § TH RIS 8T 1 82

Options :

1. % YIYeh 30T & ol a=dl i YR AT BT
2. % 91 SR & JUe hl JHIAT

3. % gl & SMTETHM Dl HH HRAT

4. IR0 Gadt FfeTT I Sleh B T S gHTd!

Question Number : 165 Question Id : 7532293607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sac-winged bat (Saccopteryx bilineata) proves:

Options :

1. ® The importance of social situation on language acquisition.

2. # The importance of independency on language acquisition.

3. # The damaging impact of independency on language acquisition.

4. ¥ The importance of heredity on language acquisition.

Question Number : 165 Question Id : 7532293607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fdw de (Saccopteryx bilineata) oIl &g Han %?
Options :

1. % YIS S 0T R o [RUfd & T8

2. % YIf¥eh 3fIHR0I IR WaAdl & Hegd




3. % YIe R0 IR WA & BB RS THIG
4. ¢ YT STHI0 W AARIbd & Tgd

Question Number : 166 Question Id : 7532293608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The best way to introduce the concept of ‘Zero’ is through which one of the following operations?
Options :

1. # Division

2. % Multiplication

3. % Subtraction

4. ¥ Addition

Question Number : 166 Question Id : 7532293608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & 2 fg dfear & mem g BT SGURUN Bl T 3w T4 J YR a1 ST Tebell 82
Options :

1. ® fayrem

2. % 1019

3. ¥ Ycld

4. % I

Question Number : 167 Question Id : 7532293609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is geoboard?

Options :

1. % Blackboard surface.

2. ¥ Physical board with a certain number of nails half driven in.

3. ¥ Wooden cubes number of nails.



4. ¥ Box with number of nails.

Question Number : 167 Question Id : 7532293609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRICISE2

Options :

1. % iPale B! Ads

2. ¢ T U1 SIS o1 IR 3n1eft ameR Aabedl g8 bici ot gicil &
3. % P ol gUAD Sl b [

4. % I A gL

Question Number : 168 Question Id : 7532293610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mathematics teaching to kids :

Options :

1. ¥ Promotes critical thinking.

2. # Promotes interpersonal relations.

3. ® Promotes well being.

4. ® Promotes responsibilities.

Question Number : 168 Question Id : 7532293610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= P O Ug™ I 4T il 82

Options :

1. ¢ IP! TAEAIHS A1 § g Bicit &
2. % I9H URWNP Jaeif Bt HIaT dgal §
3. % 70 GrHIRoIh HeTul 1 HIaT dgdl §

4. % I8 eIyl o e Igdt 8




Question Number : 169 Question Id : 7532293611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Manipulative models, static pictures, written symbols, spoken and written language, real world situations or contexts are five ways to represent:
Options :

1. ¥ Mathematical vocabulary

2. # Geometrical proof

3. ¥ Mathematical thinking and ideas

4. % Mathematical curriculum

Question Number : 169 Question Id : 7532293611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yfegafea Aisa, RR fom, Rifed udie, afire iR fafad wrn, arafae gfar ot fRufa a1 deuf @ a=ifx & uig a8e &2
Options :

1. % TN YsaTaei!

2. % ey gHror

3. ¢ T {9 S8R dd

4, ® IO UTGIhH

Question Number : 170 Question Id : 7532293612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is true?

Options :

1. #® Gender of the child can be a factor in underachievement in mathematics

2. ¥ Socio-cultural background of the child can be a factor in underachievement in mathematics.
3. # Nature of mathematics of the child can be a factor in underachievement in mathematics.

4. ® Innate ability of person of the child can be a factor in underachievement in mathematics.

Question Number : 170 Question Id : 7532293612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Fraffad § 9 SH-a1 I8t 8

Options :

1. % P = & O H HHR 814 BT BRI IS ol 81 IHhdT g |

2. ¢ T3t S & 7O & HHOIR BF BT HRUT IS AHTID - i JEYH 81 Ihcl! ¢ |
3. % fHdl 5= & IO H HHOIR 81H &1 HRUT T fawg § 39! 315 g1 T 7

4. % ot 5= & 0T & HHER 811 BT HRU IS SFHOIT &HIT 81 bl g

Question Number : 171 Question Id : 7532293613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Counting, operational arithmetic etc mathematical skills among visually challenged children can be developed by:
Options :

1. ® Fraction kit

2. ¥ Abacus

3. % Calculator

4. % Number chart

Question Number : 171 Question Id : 7532293613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PaTfd st & e, wraferes siwmford o i S frds gRT fadRid fe o wehd &
Options :

1. % Tharr fbe

2. ¥ dHY

3. % HAPAR

4. % 4R TS

Question Number : 172 Question Id : 7532293614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The most appropriate tool for teaching measurement to visually challenged children is:
Options :

1. # Models

2. % Scale

3. % Braille meterstick

4. % Objects of various length

Question Number : 172 Question Id : 7532293614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T s & Ao R & o 9a8 Iuged IS0 HIF-91 82
Options :

1. % Higd

2. % Whd

3. ¢ o e D

4. % f3f 7 deE 3 avqy

Question Number : 173 Question Id : 7532293615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Edward de Bono invented:

Options :

1. ¥ L-game

2. # Factor Game

3. # Soma’s Cube

4. % Tower of Hanoi

Question Number : 173 Question Id : 7532293615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

an_st ST (Edward de Bono) 3 foget sifaseR farar um



Options :

1. ¢ Td-TH (L-game)

2. % Thaex TTH (Factor Game)

3. % @Hr\‘rraqa (Soma’s Cube)
4. % B TR (Tower of Hanoi)

Question Number : 174 Question Id : 7532293616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Gesell Developmental Schedules was first published in:
Options :

1. ¥ 1925

2. %1950

3. % 1960

4. % 1970

Question Number : 174 Question Id : 7532293616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S faw IS W (Gesell Developmental Schedules) P Ugd! SR D UehIRId fovam mar i
Options :

1. ¥ 1925

2. %1950

3. % 1960

4. % 1970

Question Number : 175 Question Id : 7532293617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is true?:
Options :



1. # Pedagogy is concerned with aims.
2. # Pedagogy is concerned with content.
3. % Pedagogy is concerned with evaluation.

4. ¥ Pedagogy is concerned with teaching methods.

Question Number : 175 Question Id : 7532293617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofRed o 9 3 H-91 93 52

Options :

1. % TYEIRING 31 day Ie=A1 4 5

2. % TRramRIe faw-armh @ efid 5
3. % TRIETRRE qeuid § Tefid g |

4.  TR&mRIRA fRigror fafdrat 9 Heifera 3

Question Number : 176 Question Id : 7532293618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following can be considered as teaching aid?
Options :

1. # Blackboard

2. ¥ Model

3. % Still picture

4. ® Display board

Question Number : 176 Question Id : 7532293618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefaa & 3 5 e Tgraar & U & A1 S I&hdl 82

Options :
AN ¢
1. % WYMHUC (KIhd[S)




2. ¢ gfaesf @isa)
3. % RR fox ((ed fiem=rR)
4. % TE¥A Ue (ST 916)

Question Number : 177 Question Id : 7532293619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following activities will be the best to foster students' understanding of exploring texture?
Options :

1. # Easel painting

2. * Sketching

3. ¥ Cutting and pasting

4. % Crayon rubbing

Question Number : 177 Question Id : 7532293619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHIGC (SHITR) B! THY & FeTal o & fod Fafeiad # § - nfafafe watay grefe
Options :

1. % feEhdd bR

2. % IWHTT

3. % ST 3R RueH

4. ¢ g9 e

Question Number : 178 Question Id : 7532293620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What type of questions promote thinking skills in children?
Options :

1. ¥ Personal response questions

2. # Closed-ended question



3. # Factual questions

4. ® Questions bases purely on the reading text

Question Number : 178 Question Id : 7532293620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g UPR & Uy It H faaR S P ggiar ad 82
Options :

1. ¥ eI Ufdfohar Uy

2. % GRIFICR U=A

3. % dETHD UH

4. % fagg =0 U8 TR TR 7

Question Number : 179 Question Id : 7532293621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class of three year olds, which of the following would be the teacher's best strategy for fostering the development of the fine-motor skills
prerequisite for writing?

Options :

1. #® Providing children with thick pencils to use to trace the outlines of letters and shapes

2. ¥ Engaging children in activities such as doing finger plays and playing with interlocking blocks and beads
3. # Involving children in singing activities in which they clap the rhythms of the songs

4. ® Engaging children in art activities such as finger-painting and making prints of their hands in plaster.

Question Number : 179 Question Id : 7532293621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I a9 & o= 1 el B, TR & foIU A ger Aiek Rpd & [Ad &1 9gmar ¢ 7 e &t 9ed 33t 0 HiF-3 gifte
Options :

1. % 3&Rl 3R ATHIAal B TIE W URYd B & oy I At U UaM S

2. ¢ 1 Bl R W, el sald MR Sigy oRft Wa nfafafert & enfia s




3. % T fafafery # s=af ol e S forad 3 fial oR areft s @
4. % g} Dl Bl Marafal 7 A S o fhR-UfeT 3R wRer H 31g+ g1 & fife s

Question Number : 180 Question Id : 7532293622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MLL approach is :

Options :

1. ¥ Maximum level of learning.

2. ¥ Minimum level of learning.

3. # Minimum level of listening .

4. % Maximum level of listening

Question Number : 180 Question Id : 7532293622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH.UA.Ud. ‘e’@ﬁm (MLL approach) I 1 g %‘?
Options :

1. % TR BT SHYHIH &R

2.« UG BT YATH TR

3. % A BT YAdT &R

4. % G BT HUHdH TR
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Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Number : 181 Question Id : 7532293623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is Bank Street Method?

Options :

1. ¥ Encouraging children to become lifelong learners.
2. % Encouraging children to decode words.

3. # Encouraging children to know alphabetic principle.
4. % Encouraging children to to track print.

Question Number : 181 Question Id : 7532293623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9% Rj_C' (Bank Street) fafe s %‘?



Options :

1. ¢ i B 3froita Rigndf g9 g Uiefed =11

2. % S| b Wea] Dl [SHIS B o MeTed BT
3. % gl DI qUiHTET & Rigid S og Weiied B
4. % g} @l fife Th A g MidTed STl

Question Number : 182 Question Id : 7532293624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class, each child stands on a large sheet of 1-inch graph paper while a partner creates an outline of the child’s foot by tracing around it.
Children then count the number of squares inside each outline. This activity would best help children to understand the mathematical concept of:

Options :

1. # Perimeter
2. % Volume

3. * Proportion
4. ¥ Areca

Question Number : 182 Question Id : 7532293624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ST H, TP 971 | 59 P I TR &1 el e IR TST 811 7, Saics ST gl Ueh 30 T S9d R & IR} 3R 39T Hierdl g
IGP I1¢ T YD SWAT P 3R 7if &bt G a &1 a8 Tfafafy s=f &) fobg i srgyRon &) grgm o 9e8 98/ g

Options :

1. % ORA™ I1d A
2. % YA J1d HIA
3. % 30T T B
4. ¢ &FHd J1d PRA

Question Number : 183 Question Id : 7532293625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is true?



Options :

1. #® Organizing is to bridge the gap between where we are and where we want to reach.
2. % Staffing is to bridge the gap between where we are and where we want to reach.

3. ¥ Planning is to bridge the gap between where we are and where we want to reach.

4. ® Directing is to bridge the gap between where we are and where we want to reach.

Question Number : 183 Question Id : 7532293625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed & o1 91 H3= 98 82

Options :

1. % A Gl g iR STei Ug=HT 918d €, 3P §d &I Wl & gTe-T 3 Heard gl
2. % UGl § 3R Slgt UgaH1 I18d &, 39P &I &1 WTs B! UTe-T WIfthi Hedldl ¢
3. ¢ GH I8 g SR OgT Uga1 918d €, 3P &1d Pl Wg & aTe-T Ao Haardl |
4. % YOGl 3R STgt UgaHI I1ed §, 3P s &1 WTs &I Ure e deardi g |

Question Number : 184 Question Id : 7532293626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Taking up small responsibilities are social and emotional competencies of
Options :

1. ¥ 3-4 years children

2. # 4.5 years children

3. # 5.6 years children

4. % 2.3 years children

Question Number : 184 Question Id : 7532293626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BII-BICT foraTRal I8 BT @ AT SR HIGATHD &HA 5 |

Options :



.¢ 34994 & =
2. % 4594 B I
3. % 5698 &b g
4. % 2394 b I

Question Number : 185 Question Id : 7532293627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is true?

Options :

1. ¥ Rule does not allow for any flexibility or discretion in planning and organization in ECCE.

2. # Policy does not allow for any flexibility or discretion in planning and organization in ECCE.
3. # Strategy does not allow for any flexibility or discretion in planning and organization in ECCE.

4. % Procedure does not allow for any flexibility or discretion in planning and organization in ECCE.

Question Number : 185 Question Id : 7532293627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad o @ ®F W &Y= 981 72

Options :

1. ¢ AT 2. (ECCE) # FeH 3R e # o fordht afiane ar fade @ srafa T8 Sar gl
2. % AW (ECCE) & oM 3R e | Hifd fordt rficu o1 fade @t srgafa T8t 3t B

3. % A E. (ECCE) H oM SR e+ # 0T forelt adiaios a1 fdae &t srgafd et i 8|
4. % SHWMI. (BCCE) H A 3R 16 Ufshan fpdt aiiau a1 fades &1 srgafd et <ol o

Question Number : 186 Question Id : 7532293628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

function of management is concerned with both ends and means.
Options :
1. ¥ Objective



2. * Time frame
3. # Resources

4. % Alternatives

Question Number : 186 Question Id : 7532293628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sy I BT 1o SR WieE ST 8 e gl g
Options :

1LY e

2. % gAY

3. % Yq

4. % qPHIUD

Question Number : 187 Question Id : 7532293629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which organization structures formation is based on product lines and is supported by functions?
Options :

1. ¥ Functional structure

2. # Divisional structure

3. % Authority

4. % Responsibility

Question Number : 187 Question Id : 7532293629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & § o W WToATdS T &1 FAfor Idre Rar IR uid § iR &1l gRT JHfd g2
Options :

1. ¢ HRATHD T

2. % YUY TR




3. % UIYHRU
4. % IRGIAG

Question Number : 188 Question Id : 7532293630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is suitable for preschool children?
Options :

1. # Sequencing physically active and quiet activities simultaneously.
2. # Starting the class with prayer.

3. ® Exposing children to various ECCE centres.

4. ¥ Changing activities in time table.

Question Number : 188 Question Id : 7532293630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

v =t ¥ fore Pt & & @ Sugad &2

Options :

1. % RIS U Y Aich SR id ATt o Qr-ur Sgesid &3l
2. % HET P LB WIHAT I HAT|

3. % g &l Al 3. AW 3. (ECCE) Fal & Tuds § |

4. « TEY IRl # idfaferat B saer|

Question Number : 189 Question Id : 7532293631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who recognized the role of play and stated “Not by Force Shall the Children learn but through Play...”?
Options :

1. ¥ Plato

2. ® Piaget

3. # Dewey



4. % Gesell

Question Number : 189 Question Id : 7532293631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W DI YHDT B! UgaTd §U fbd Ig uRHIG T o, "ol STaRad! Ag1 SiRavl dfceh Wl o H1eH 8§ YR
Options :

1. ¥ Wicl (Plato)

2. % fOTTS (Piaget)

3. % SdT (Dewey)

4. % S (Gesell)

Question Number : 190 Question Id : 7532293632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Child-Friendly Classroom should have:

Options :

1. ¥ Materials should be suitable sizes because children could reach.

2. ® There should be sufficient inexpensive materials because children tend to waste.
3. # Furniture and materials should be of larger sizes because grow very fast.

4. ® There should be sufficient expensive materials because children should be exposed to expensive materials.

Question Number : 190 Question Id : 7532293632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uh aA-gay wemd |

Options :

1. ¢ Sl o TR IXIU S JHR Bl g1 AT

2. % Hiolg avqU Il g A1 i o 9gd I & &

3. % TIN[g BrrdR 98 PR &1 811 A1y Fifh S BT RN [dH dgd doll A eidT g
4. % TG IXIL T B =feT Rilfds d sl Bl &1l gl &




Question Number : 191 Question Id : 7532293633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true?

Options :

1. ¥ Inclusive education is an approach to educate all children who are at risk for neglect in education system.
2. # Mainstreaming is an approach to educate all children who are at risk for neglect in education system.

3. # Segregation is an approach to educate children who are at risk for neglect in education system.

4. ® Integration is an approach to educate all children who are at risk for neglect in education system.

Question Number : 191 Question Id : 7532293633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ o I Yy I8t g2

Options :

1.« FHTaRN e 39 Tt st o) Rférd e @ Tafda ePaion g it ugd e vomel 9 81 g
2. % T YRT 3 9l 9=l I Rféra w1 ¥ Sefa a1 ¢ fomat uga fRien yomedt 9@ 181 5

3. % 3eTa 3 T S Bl R B & et efPhivn § foren! uga R goneh a& 61 g

4. % THIHR0 34 G gl Bl Rfera HA T F&fa e¥@i0 g fomat uga fRren yomedt 9 T8 5

Question Number : 192 Question Id : 7532293634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is true?
Options :

1. #® Child right to learn is a cultural right.
2. % Child right to learn is a social right .
3. ¥ Child right to learn is a human right .
4. ® Child right to learn is a ethical right .

Question Number : 192 Question Id : 7532293634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 & 91 By I8t 82

Options :

1. % TR T ATAPR Tl BT ARP AP HABR g
2. % ARG BT 3HfYPR =7} BT AR PR T
3. ¢ TG BT 3AfYPR I BT AFAIIIPR 8

4. % g BT AYPR =} BT A MIPR g

Question Number : 193 Question Id : 7532293635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is true:

Options :

1. # In social inclusion, people with disability are given the legal rights to be secured in the society.

2. ¥ In legal inclusion, people with disability are given the legal rights to be secured in the society.

3. # In educational inclusion, people with disability are given the legal rights to be secured in the society.

4. ® In humanitarian inclusion, people with disability are given the legal rights to be secured in the society.

Question Number : 193 Question Id : 7532293635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferad 7 @ o I Hu= I8t 82

Options :

1. % TG GHIGRM H, i o T & QRIET 8 BT ST SR Gar S g
2. ¢ BT GHEORH H, [T & 0 8§ QRI&T 811 &1 ST SR fear I gl
3. % Qe qraRH H, [l & THS § QRIEd 811 &1 ST SR fear Sarg |
4. % OIAT GHGRE H, feaail &) wHme # YRIE 811 &1 ST SfieR fear S |

Question Number : 194 Question Id : 7532293636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which one is true?

Options :

1. ¥ In Autism Spectrum Disorder , children have a strong sensory issues.
2. % In Autism Sensory Disorder , children have a strong sensory issues.
3. % In Autism specific disorder, children have a strong sensory issues.

4. % In Autism special disorder, children have a strong sensory issues.

Question Number : 194 Question Id : 7532293636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad 7 9 & 91 oy I8t 82

Options :

| v oifews Ween feqeidR & g 7 Tk Wad wweamy & &)
2. % 3fffesy U= fesiier #, s=di & 7R Tadl 99w gidh 5|
3. % SfffesH Wit fewaile’ #, Fail A 7R dadt Tr=mg gid 5|
4. % 3fffeH TR fEgsiier ¥, g=di & Mk dact g9 gl g |

Question Number : 195 Question Id : 7532293637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Materials is a change an activity, manipulative, or toy slightly to meet the needs of a child with a disability or developmental delay.
Options :

1. ¥ Adaptation

2. % Substitution

3. % Expansion

4. ®% QOmission

Question Number : 195 Question Id : 7532293637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e a1 fawritg fads o s &t srawadmarsil &1 R & & fau Raa, gefem ar anmht . 37TR7p uRad g1




Options :

1. ¢ 3{JDh T (Adaptation)
2. % TfdRYTIA (Substitution)
3. % fd¥dR (Expansion)

4, ® HHUT (Omission)

Question Number : 196 Question Id : 7532293638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The social exclusion and negative attitudes results in social discrimination and thus leads to exclusion and barrier.
Options :

1. % Attitudinal

2. % Social

3. % Emotional

4. % Infrastructural

Question Number : 196 Question Id : 7532293638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%%lgw SESHR 3R THRIAD VB & HaaRey JHTTH HeHTd UeT 8idT § 3R 3% URUMTAEET Siethrul 3R YT AT
|

Options :

1. % 3fYgfcih

2. ¢ SIS

3. % Y[aATdD

4. % GHENT

Question Number : 197 Question Id : 7532293639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dysgraphia is :



Options :

1. ¢ Difficulty in writing constantly and clumsy handwriting .
2. # Difficulty in reading.

3. # Difficulty in solving mathematical problems.

4. ® Difficulty in speaking.

Question Number : 197 Question Id : 7532293639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&anitean (Dysgraphia) T2

Options :

1. ¥ AR forem & Sf3ATs 3R TR1e ferarae
2. % UgA H Hi3Ts

3. % TN Ul 1 56 B H HidATS

4. % qie- § BidATs

Question Number : 198 Question Id : 7532293640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is associated with reading difficulty?
Options :

1. ¥ ADHD

2. # Dysgraphia

3. % Dyscalculia

4. ¥ Dyslexia

Question Number : 198 Question Id : 7532293640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
79 & Q o I1 fgpR ug # Sf3T1E § T&fda g2

Options :




1. ¥ US4 Sl. (ADHD)
2. % feonfear

3. % fegdapiemn

4. ¢ TSRy

Question Number : 199 Question Id : 7532293641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an inclusive classroom with diverse learners, cooperative learning and peer-tutoring.
Options :

1. % Should not be practiced and students should be segregated based on their abilities.
2. % Should be used only sometimes since it promotes comparison with classmates.

3. % Should be actively discouraged and competition should be promoted.

4. ¥ Should be actively promoted to facilities peer-acceptance.

Question Number : 199 Question Id : 7532293641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaey fRranfial, Tgoer) ifvm 3R TgoHl-fRraror arelt grTIRh Ham # g e &1 sadgR fovar S =i w?
Options :

1. % 30 T8} BT TANRY 3R B! Dl IAD! &HATSN b 3R YR ST 3T ST ST BT

2. % i Ig WeUISdl & AT A1 B! SeTal odl &, IUTeTE 3qHT Iuai Ht FHaft g fovar S =nfeu|

3. % Tfopg ¥U I 591 faRly fovan S anfeu ok ufawuet ! srgrar &1 =nfgul

4. ¥ GEHH-WIPId Jaurs &I Afepd U ¥ Fgral o1 Ayl

Question Number : 200 Question Id : 7532293642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When students with special education needs are made to fit into the pre-existing structure is called: choose the right answer from the options
below:

Options :

1. #® Special education



2. ¥ Integrated education
3. # Remedial education

4. % General education

Question Number : 200 Question Id : 7532293642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS e T aadhdr aTd BE &1 gd I Aivlg [R1eT e & A H3- R a1 FRI&T qaRT F7 Hgad 62

Options :

1. % fo=iy fReq
2. ¢ Tdbipd A&

3. % JUARTHED R
4. % ATy fRrem




